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CIRCLE

Solved Example

1. Origin is the centre of a circle passing through the vertices of an

equilateral triangie whose median is of length 3a then the equation of

the circle is

A. 

B. 

C. 

D. 

x2 + y2 = 36

x2 + y2 = 64

x2 + y2 = 16

x2 + y2 = 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QjooT6XvCkYE


Answer: D

Watch Video Solution

2. The lines 2x-3y=11 and 3x-4y=18 are two diameters of a circle of area 154

eq unit. Then the equation of this circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x − 2y − 62 = 0

x2 + y2 − 4x + 6y − 36 = 0

x2 + y2 − 12x − 12y − 47 = 0

x2 + y2 − 2x + 2y − 62 = 0

3. A square is inscribed in the circle  with its

sides parallel to the coordinate axes. One vertex of the square is

x2 + y2 − 2x + 4y − 3 = 0

https://dl.doubtnut.com/l/_QjooT6XvCkYE
https://dl.doubtnut.com/l/_3hs59vufPdx1
https://dl.doubtnut.com/l/_cIKfWTj7O4bu


A. (3,4)

B. (3,-4)

C. (8,-5)

D. (-8,5)

Answer: B

Watch Video Solution

4. The lines 3x-4y +4=0 and 6x-8y-7=0 are tangents to the same circle. The

radius of the circle is

A. 

B. 

C. 

D. none

Answer: B

3/2

3/4

3/8

https://dl.doubtnut.com/l/_cIKfWTj7O4bu
https://dl.doubtnut.com/l/_8bdlsTMB9Aho


Watch Video Solution

5. If the lengths of the tangents from two points A, B to a circle are 4, 3

respectively. If A,B are conjugate points then AB=

A. 5

B. 

C. 

D. none

Answer: A

Watch Video Solution

√85

√85/2

6. If the lines  cut the coordinate axes

in concyclie points then k=

A. 2

2x − 3y + 7 = 0, 3x + ky + 5 = 0

https://dl.doubtnut.com/l/_8bdlsTMB9Aho
https://dl.doubtnut.com/l/_FpnEg7zIfiIz
https://dl.doubtnut.com/l/_la5ylDukCrym


B. 3

C. 

D. 

Answer: C

Watch Video Solution

−2

−3

7. If (3,-2) is the midpoint of the chord AB of the circle

A. 4

B. 8

C. 12

D. 16

Answer: B

Watch Video Solution

x2 + y2 − 4x + 6y − 5 = 0  then AB=

https://dl.doubtnut.com/l/_la5ylDukCrym
https://dl.doubtnut.com/l/_x5TTKQJiVP8u


8. If the four points of intersection of the lines

 with the coondinate axes lie on a circle

then its centre is

A. (0,0)

B. (3/4,0)

C. (0,3/4)

D. (-3/4,0)

Answer: D

Watch Video Solution

2x + y − 1 = 0, x + 2y + 2 = 0

9. If the circles

 touch each

other then the points of contact is

x2 + y2 + 4x − 2y − 220 = 0, x2 + y2 − 4x + 4y − 92 = 0

https://dl.doubtnut.com/l/_x5TTKQJiVP8u
https://dl.doubtnut.com/l/_WTuADNDRy9K6
https://dl.doubtnut.com/l/_pYTeyh8ZLJrj


A. (-2,1)

B. (2,-2)

C. (10,-8)

D. (0,-1)

Answer: C

Watch Video Solution

10. The angle between the circles ," 

" is

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 + 8x − 4y + 11 = 0

π/3

π/2

π/5

π/4

https://dl.doubtnut.com/l/_pYTeyh8ZLJrj
https://dl.doubtnut.com/l/_dDYZm2elYRAu


Watch Video Solution

11. The number of common tangents that can be drawn to the circles

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x2 + y2 − 4x + 6y + 8 = 0, x2 + y2 − 10x − 6y + 14 = 0

12. If the coordinates of the centre of the circle are roots of the equations

 and radius is 5/6 them its equation is

A. 

6x2 − 5x + 1 = 0

x2 + y2 − 3x − 2y − 1 = 0

https://dl.doubtnut.com/l/_dDYZm2elYRAu
https://dl.doubtnut.com/l/_zPh7GEroctLu
https://dl.doubtnut.com/l/_obcBxisNiTEZ


B. 

C. 

D. 

Answer: B

Watch Video Solution

3(x2 + y2) − 3x − 2y − 1 = 0

3(x2 + y2) + 3x + 2y + 1 = 0

x2 + y2 + 3x + 2y + 1 = 0

13. The value of the parameter of two points A and B lying on the circle,

 respectively. The equation

of the chord joining A and B is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 − 6x + 4y − 12 = 0  are 30∘ , 90∘

x + √3y = 0

x − √3y = 0

x + √3y − 3(1 + √3) = 0

√3x + √3y + 61 = 0

https://dl.doubtnut.com/l/_obcBxisNiTEZ
https://dl.doubtnut.com/l/_kbs2WCj4e9yP


Watch Video Solution

14. If  are roots of  then the equation of circle with

centre  and radius 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β 3x2 − 6x + 2 = 0

(α + β, αβ) (α2 + β2)  is 

x2 + y2 − 36x − 12y + 24 = 0

x2 + y2 − 36x − 12y − 24 = 0

9(x2 + y2) − 36x − 12y − 24 = 0

9(x2 + y2) + 36x + 12y − 24 = 0

15. If  represents a circle then 

A. R-(2,3)

B. R

x2 + y2 + 2gx + 6y + 5g + 3 = 0 g ∈

https://dl.doubtnut.com/l/_kbs2WCj4e9yP
https://dl.doubtnut.com/l/_ZYcMFeYhGU1i
https://dl.doubtnut.com/l/_BW1wFNRK5c2b


Exercise 1A(Circle)

C. (2,3)

D. 

Answer: A

Watch Video Solution

( − ∞, 0)

1. The equation of the circle with centre (3, -2) and radius 3 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 4y + 4 = 0

x2 + y2 − 4x + 6y + 9 = 0

x2 + y2 + 14x + 6y − 42 = 0

x2 + y2 + 2x + 16y + 40 = 0

https://dl.doubtnut.com/l/_BW1wFNRK5c2b
https://dl.doubtnut.com/l/_WtqlO5diQbYn


2. The equatinn of the circle with centre origin and radius 2 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 6x + 4y + 4 = 0

x2 + y2 = 4

x2 + y2 − 4x + 6y − 12 = 0

x2 + y2 + 2x + 16y + 40 = 0

3. The centre of the circle  is

A. 

B. 

C. 

D. `(1,-1)

x2 + y2 − 4x − 2y − 4 = 0

(2, 1)

(0, 0)

( − 2, − 1)

https://dl.doubtnut.com/l/_WtqlO5diQbYn
https://dl.doubtnut.com/l/_EZ7UE9C3ZX8A
https://dl.doubtnut.com/l/_W3o38AaQsjQV


Answer: A

Watch Video Solution

4. The centre of the circle 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + m2)(x2 + y2) − 2cx − 2cmy = 0  is 

( , )
c

1 + m2

cm

1 + m2

( − , )
c

1 + m2

cm

1 + m2

( , − )
c

1 + m2

cm

1 + m2

( − , − )
c

1 + m2

cm

1 + m2

5. The radius of the circle 

A. 11

x2 + y2 + 6x + 8y − 96 = 0  is 

https://dl.doubtnut.com/l/_W3o38AaQsjQV
https://dl.doubtnut.com/l/_DDIcRQj9lF2X
https://dl.doubtnut.com/l/_ouTxbL9foDj9


B. 

C. 

D. 20

Answer: A

Watch Video Solution

√19

2

4

√3

6. The radius of the circle 

A. 11

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 + m2)(x2 + y2) − 2cx − 2cmy = 0  is 

√19

2

4

√3

c

√1 + m2

https://dl.doubtnut.com/l/_ouTxbL9foDj9
https://dl.doubtnut.com/l/_Doc2Yi8UCyke
https://dl.doubtnut.com/l/_cBly2BrddGOG


7. The length of the diameter of the circle 

A. 5

B. 10

C. 15

D. 20

Answer: B

Watch Video Solution

x2 + y2 − 6x − 8y = 0  is 

8. The equation of the circle passing through (-7, 1) and having centre at

(-4, -3) is

A. 

B. 

C. 

D. 

x2 + y2 + 8x + 6y = 0

x2 + y2 + 4x − 16y − 101 = 0

x2 + y2 − 4x − 6y = 0

x2 + y2 = 5

https://dl.doubtnut.com/l/_cBly2BrddGOG
https://dl.doubtnut.com/l/_Z47oV8aaUhdb


Answer: A

Watch Video Solution

9. The diameters of a circle pre along 2x+y-7=0 and x+3y- 11=0. Then, the

equation of this circle, which also passes through (5,7) is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 4y2 − 4x − 6y − 16 = 0

x2 + y2 − 4x − 6y − 20 = 0

x2 + y2 − 4x − 6y − 12 = 0

x2 + y2 + 4x + 6y − 12 = 0

10. If the lines 2x -3y=5 and 3x-4y=7 are two diameters of a circle of radius

7, then the equation of the circle is

https://dl.doubtnut.com/l/_Z47oV8aaUhdb
https://dl.doubtnut.com/l/_jdHVFDMUmTAQ
https://dl.doubtnut.com/l/_3OcIpYnsmOEZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x − 4y − 47 = 0

x2 + y2 = 49

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 = 17

11. The length of the diameter of the circle which touches the x-axis at the

point (1, 0) and passes through the point (2, 3) is

A. 

B. 

C. 

D. 

Answer: C

6/5

5/3

10/3

3/5

https://dl.doubtnut.com/l/_3OcIpYnsmOEZ
https://dl.doubtnut.com/l/_Ky7LZuv8CSZO


Watch Video Solution

12. If  represents a circle, then b=

A. 2

B. 3

C. 1

D. 0

Answer: A

Watch Video Solution

2x2 + by2 + 4x − 6y − 1 = 0

13. If  represents a circle of radius 5 then c=

A. 

B. 

C. 

x2 + y2 − 4x + 6y + c = 0

−2

−12

−3

https://dl.doubtnut.com/l/_Ky7LZuv8CSZO
https://dl.doubtnut.com/l/_yvhuPEDtmPLY
https://dl.doubtnut.com/l/_Bq8MwCAmS0Dq


D. 1

Answer: B

Watch Video Solution

14. If  represents a circle with centre 

 then radius =

A. 1

B. 2

C. 3

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + 9 = 0

(1, − 3)

−1

https://dl.doubtnut.com/l/_Bq8MwCAmS0Dq
https://dl.doubtnut.com/l/_CeVs2AfcLm6b


15. The point (-1,0) lies on the circle . The

radius of the circle is

A. 4

B. 5

C. 3

D. none

Answer: B

Watch Video Solution

x2 + y2 − 4x + 8y + k = 0

16. The centroid of an equilateral triangle is (0, 0) and the length of the

altitude is 6. The equation of the circumcirele of the triangle is

A. 

B. 

C. 

x2 + y2 = 6

x2 + y2 = 16

x2 + y2 = 9

https://dl.doubtnut.com/l/_264RWC9TovIW
https://dl.doubtnut.com/l/_Vx8S27ubrQ4k


D. 

Answer: B

Watch Video Solution

x2 + y2 = 36

17. Origin is the centre of a circle passing through the vertices of an

equilateral triangie whose median is of length 3a then the equation of

the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 9a2

x2 + y2 = 16a2

x2 + y2 = 4a2

x2 + y2 = a2

https://dl.doubtnut.com/l/_Vx8S27ubrQ4k
https://dl.doubtnut.com/l/_Pg8MR2zITCGc
https://dl.doubtnut.com/l/_rQsXaBPZhTVf


18. The circumcircle of a triangle is given by .

The radius of the nine point circle of the triangle is

A. 2

B. 3

C. 4

D. 1

Answer: A

Watch Video Solution

x2 + y2 − 4x + 6y − 3 = 0

19. The centres of the three circles

lie on the line

A. 

B. y-2x=5

x2 + y2 − 10x + 9 = 0, x2 + y2 − 6x + 2y + 1 = 0, x2 + y2 − 9x − 4y +

x − 2y = 5

https://dl.doubtnut.com/l/_rQsXaBPZhTVf
https://dl.doubtnut.com/l/_HCVNNkRhYShX


C. 2y-x=5

D. none

Answer: D

Watch Video Solution

20. For the circle , the point (3, 5)

A. lies inside the circle

B. lies outside the circle

C. lies on the circle

D. is the centre of the circle

Answer: A

Watch Video Solution

x2 + y2 − 4x − 2y − 36 = 0

https://dl.doubtnut.com/l/_HCVNNkRhYShX
https://dl.doubtnut.com/l/_YVtiJu3yt8dz


21. For the circle  the point (3, 5)

A. lies inside the circle

B. lies outside the circle

C. lies on the circle

D. is the centre of the circle

Answer: B

Watch Video Solution

2x2 + 2y2 − 5x − 4y − 3 = 0

22. The power of the point (1, 2) w.r.t the circle x^2 + y^2-4x-6y - 12 =0 is

A. 

B. 0

C. 69

D. 17

−23

https://dl.doubtnut.com/l/_fDOGPxaoWOhq
https://dl.doubtnut.com/l/_7F44zGSxWV3K


Answer: A::D

Watch Video Solution

23. The value of a, such that the power of the point (1, 6) with respect to

the circle 

A. 7

B. 11

C. 13

D. 21

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y − a = 0  is -16 is

24. The equation  represent points which are(x2 − a2)
2

+ (y2 − b2)
2

=

https://dl.doubtnut.com/l/_7F44zGSxWV3K
https://dl.doubtnut.com/l/_BivdewOEz7Zb
https://dl.doubtnut.com/l/_lYi0uQqmW4JY


A. collinear

B. on a circle with centre (a,b)

C. on a circle with centre (0,0)

D. coincident

Answer: D

Watch Video Solution

25. The equation  represents

A. a circle

B. a pair of two straight lines

C. a pair of coincident straight lines

D. a point

Answer: D

Watch Video Solution

x2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_lYi0uQqmW4JY
https://dl.doubtnut.com/l/_7IJvR9Ag9w3Q


26. The locus of a point which divides the join of A(-1, 1) and a variable

point P on the circle  in the ratio 3:2 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 4

25(x2 + y2) + 20(x + y) + 28 = 0

25(x2 + y2) − 20(x + y) + 28 = 0

25(x2 + y2) + 20(x − y) + 28 = 0

25(x2 + y2) + 20(x − y) − 28 = 0

27. If the two circles 

have equal radius then locus of (g,f) is

A. 

B. 

x2 + y2 + 2gx + c = 0 and x2 + y2 − 2fy − c = 0

x2 + y2 = c2

x2 − y2 = 2c

https://dl.doubtnut.com/l/_7IJvR9Ag9w3Q
https://dl.doubtnut.com/l/_skLE4VbB9k9s
https://dl.doubtnut.com/l/_75DxL3j8a9tp


C. 

D. none

Answer: B

Watch Video Solution

x − y2 = c2

28. The locus of the point which moves such that the sum of the squares

of its distances from (0, a) and (0,- a) is 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2r2  is 

x2 + y2 = a2

x2 + y2 = r2

x2 + y2 = r2 + a2

x2 + y2 = r2 − a2

https://dl.doubtnut.com/l/_75DxL3j8a9tp
https://dl.doubtnut.com/l/_dQh1sjzRvIZW
https://dl.doubtnut.com/l/_JIpVC6z9nOnc


29. The radius of the circle passing through the point (6, 2) and two of

whose diameters are x+y=6 and x+ 2y =4 is

A. 10

B. 

C. 6

D. 4

Answer: B

Watch Video Solution

2√5

30. Equation of the circle with radius 10 and whose two diameters are

A. 

B. 

C. 

x + y = 6 and x + 2y = 4  is 

x2 + y2 + 16x − 4y − 32 = 0

x2 + y2 − 16x + 4y − 32 = 0

x2 + y2 − 16x + 4y + 32 = 0

https://dl.doubtnut.com/l/_JIpVC6z9nOnc
https://dl.doubtnut.com/l/_kC5LhFpEEsXG


D. none

Answer: B

Watch Video Solution

31. If the line 3x-2y + 6=0 meets X-axis and Y-axis respectively at A and B,

then the equalion of the circle with radius AB and centre at A. is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

x2 + y2 + 4x + 9 = 0

x2 + y2 + 4x − 9 = 0

x2 + y2 + 4x + 4 = 0

x2 + y2 + 4x − 4 = 0

https://dl.doubtnut.com/l/_kC5LhFpEEsXG
https://dl.doubtnut.com/l/_BAAaJsrwQ0Tu


32. Consider the circle  whose centre is A(2, 1)

If the point P (10, 7) is such that the line segment PA meets the circle in Q

With PQ=5, then c=

A. 

B. 20

C. 30

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x − 2y + c = 0

−15

−20

33. If A=(1, 2), B=(4, 5) then the equation of the circle having  as

diameter is

A. 

B. 

−
AB

x2 + y2 − 5x − 7y + 14 = 0

x2 + y2 − 8x − 2y − 51 = 0

https://dl.doubtnut.com/l/_VCYAcvbj6awg
https://dl.doubtnut.com/l/_sivDOfboBFQy


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 8x − 12y + 27 = 0

x2 + y2 − 5x − 7y + 14 = 0

34. The equation of the circle through (1, 0) and (0, 1) and having tallest

possible radius

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 − x − y = 0

2x2 + 2y2 − x − y = 0

x2 + y2 + x + y = 0

https://dl.doubtnut.com/l/_sivDOfboBFQy
https://dl.doubtnut.com/l/_qW8F1zuJxGK6
https://dl.doubtnut.com/l/_AsyTcPTRpjCa


35. Equation  has real roots  equation 

 has real roots . If circle C is drawn with the points 

 as extremities of a diameter, then the equation of is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 2ax − b2 = 0 α, β and

x2 + 2px − q2 = 0 γ, δ

(α, γ), (β, δ)

x2 + y2 + 2ax + 2py − b2 − q2 = 0

x2 + y2 + 2ax + 2py + b2 + q2 = 0

x2 + y2 − 2ax − 2py + b2 + q2 = 0

x2 + y2 + 2ax − 2py + b2 − q2 = 0

36. If  the roots of  and  the roots of 

 then the equation of the circle having the equation of

the circle having the line joining  diameter is

A. 

α, β x2 + ax + b = 0 γ, δ

y2 + cy + d = 0

(α, γ), (β, δ)

x2 + y2 + ax + cy + (b + d) = 0

https://dl.doubtnut.com/l/_AsyTcPTRpjCa
https://dl.doubtnut.com/l/_DiQksQa189hZ


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + ax + cy + cy − (a + c) = 0

x2 + axb − b = 0

x2 − ax − b = 0

37. The circle described on the line joining the points (0,1), (a,b) as

diameter cuts the X-axis in points whose abscissae are roots of the

equation

A. 

B. 

C. 

D. 

Answer: B

x2 + ax + b = 0

x2 − ax + b = 0

x2 + axb − b = 0

x2 − ax − b = 0

https://dl.doubtnut.com/l/_DiQksQa189hZ
https://dl.doubtnut.com/l/_wDo5Rr95mdcL


Watch Video Solution

38. If the circles described on the line joining the points (0,1) and 

as diameter cuts the axis of the points whose abscissae are the roots of

the equation 

A. (5,3)

B. (3,5)

C. (-5,3)

D. (3,-5)

Answer: A

Watch Video Solution

(α, β)

x2 − 5x + 3 = 0  then (α, β) =

39. If one end of the diameter of the circle

 then the other end of the

diameter is

x2 + y2 − 6x + 4y − 12 = 0  is (7, − 5)

https://dl.doubtnut.com/l/_wDo5Rr95mdcL
https://dl.doubtnut.com/l/_ji0tORi11cFU
https://dl.doubtnut.com/l/_2plFS6MYK19f


A. (-1,-3)

B. (-1,1)

C. (-4,3)

D. (-4,4)

Answer: B

Watch Video Solution

40. The point diametrically oppiosite to the point P (1,0) on the circle

A. (-3,4)

B. (-3,-4)

C. (3,4)

D. (3,-4)

Answer: B

x2 + y2 + 2x + 4y − 3 = 0  is 

https://dl.doubtnut.com/l/_2plFS6MYK19f
https://dl.doubtnut.com/l/_NstvWFU85ZTr


Watch Video Solution

41. The normal to the circle given by  at (8,

8) meets the circle again at the point

A. (2,-16)

B. (2,16)

C. (-2,16)

D. (-2,-16)

Answer: D

Watch Video Solution

x2 + y2 − 6x + 8y − 144 = 0

42. The centre and radius of the eircle with the segment of the line x+y=1

cut of by the coordinate axes as diameter are

A. (1, 1), √2

https://dl.doubtnut.com/l/_NstvWFU85ZTr
https://dl.doubtnut.com/l/_GkxlvQGXsyxv
https://dl.doubtnut.com/l/_5BsKiUFBJYtT


B. 

C. 

D. (0,0),1

Answer: C

Watch Video Solution

(1/2, 1/2), √2

(1/2, 1/2), 1/√2

43. If (x, 3) and (3, 5) are the ends of the diameter of a circle with centre at

(2, y), then the values of x and y are

A. x=1, y=4

B. x=4, y=1

C. x=8, y=2

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5BsKiUFBJYtT
https://dl.doubtnut.com/l/_Fa9CUpz3P21E


44. The lines 2x-3y=5 and 3x-4y=7 are two diameters of a circle of area 154

sq unit. Then the equation of this circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 − 12 − 2y − 47 = 0

x2 + y2 − 2x + 2y − 62 = 0

45. If the lines 3x-4y-7=0 and 2x-3y-5=0 are two diameters of a circle of

area  square units, the equation of the circle is

A. 

B. 

49π

x2 + y2 − 2x + 2y − 62 = 0

x2 + y2 − 2x + 2y − 47 = 0

https://dl.doubtnut.com/l/_Fa9CUpz3P21E
https://dl.doubtnut.com/l/_IASzhKyS3svI
https://dl.doubtnut.com/l/_DhicwjMCD4jB


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 − 12 − 2y − 47 = 0

46. A variable circle passes through the fixed point A(p, q) and touches

axis. The locus of the other end of the diameter through A is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − p)2 = 4qy

(y − q)2 = 4px

(y − p)2 = 4qx

(x − q)2 = 4py

https://dl.doubtnut.com/l/_DhicwjMCD4jB
https://dl.doubtnut.com/l/_9AUIuQndtFjR
https://dl.doubtnut.com/l/_F0pzL6Bg0ViH


47. If the Iines 2x+3y+1=0 and 3x-y-4=0 lie along diameters of a circle of cir-

cumference , then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10π

x2 + y2 − 2x + 2y − 23 = 0

x2 + y2 + 2x − 2y − 23 = 0

x2 + y2 + 2x + 2y − 23 = 0

x2 + y2 − 2x − 2y − 23 = 0

48. The area of the circle (x+1)(x+2)+(y-1)(y+3)=0 is

A. 

B. 

C. 

D. none

17π/4

17π/2

2π/17

https://dl.doubtnut.com/l/_F0pzL6Bg0ViH
https://dl.doubtnut.com/l/_5HL4BJQNiLCi


Answer: A

Watch Video Solution

49. The centre of the circle (x-2)(x-4)+(y-1)(y+3)=0 is

A. (3,2)

B. (3,-1)

C. (3,1)

D. (1,3)

Answer: B

Watch Video Solution

50. The centre of the circle circumscribing the triangle formed by the line

3x+4y=24 with the axes is

https://dl.doubtnut.com/l/_5HL4BJQNiLCi
https://dl.doubtnut.com/l/_OlXaBID8Y0eI
https://dl.doubtnut.com/l/_cjY5CXBhMMsc


A. (4,3)

B. (-4,3)

C. (3,4)

D. (3,-4)

Answer: A

Watch Video Solution

51. The centre of the incircle of the triangle formed by the line 3x+4y=24

with the axes

A. (3,3)

B. (2,2)

C. (-2,2)

D. (2,-2)

Answer: B

https://dl.doubtnut.com/l/_cjY5CXBhMMsc
https://dl.doubtnut.com/l/_8aCuVtkkKnLv


Watch Video Solution

52. Equation of the circle passing through A(1,2), B(5, 2) so that the angle

subtended by AB at points on the circle is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π/4  is 

x2 + y2 − 6x − 8 = 0

x2 + y2 − 6x − 8y + 17 = 0

x2 + y2 − 6x + 8 = 0

x2 + y2 − 6x − 8y − 25 = 0

53. The equation of the diameter of the circle

 that is parallel to 3x+5y-4=0 is

A. 3x+5y=7

x2 + y2 + 2x − 4y − 4 = 0

https://dl.doubtnut.com/l/_8aCuVtkkKnLv
https://dl.doubtnut.com/l/_YHQyDJo6G6qB
https://dl.doubtnut.com/l/_2hjmgdo1Kyg3


B. 3x+5y=-7

C. 3x-5y=7

D. 3x-5y=-7

Answer: A

Watch Video Solution

54. The straight lines joining the origin to the points of intersectiion of

the line 4x+3y=24 with the curve 

A. are coincident

B. are perpendicular

C. made equal angles x-axis

D. none

Answer: B

Watch Video Solution

(x − 3)2 + (y − 4)2 = 25

https://dl.doubtnut.com/l/_2hjmgdo1Kyg3
https://dl.doubtnut.com/l/_3OkTW9TB4RpL


55. A straight line moves such that the algebraie-sum of the

perpendiculars drawn to it from two fixed points is equal to 2k. Then the

straighi line always touches a fixed circle of radius

A. 2k

B. k/2

C. k

D. none

Answer: C

Watch Video Solution

56. If the base of a triangle and the ratio of the lengths of the other two

unequal sides are given, then the veterx lies on

A. a straight line

https://dl.doubtnut.com/l/_3OkTW9TB4RpL
https://dl.doubtnut.com/l/_7Vj3vPYgBd3r
https://dl.doubtnut.com/l/_93wKtxNPpKlw


B. a circle

C. an ellipse

D. a prabola

Answer: B

Watch Video Solution

57. The condition that the chord a

 subtend a right angle

at the centre of the circle is

A. 

B. 

C. p=2a

D. 

Answer: A

x cosα + y sinα − p = 0  of x2 + y2 − a2 = 0

a2 − 2p2

p2 = 2a2

a2 − 2p3

https://dl.doubtnut.com/l/_93wKtxNPpKlw
https://dl.doubtnut.com/l/_xEPBqO1vqqpY


Watch Video Solution

58. An equilateral triangle is inscribed in the circle . The

length of the side of the triangle is

A. 

B. 

C. 2a

D. none

Answer: B

Watch Video Solution

x2 + y2 = a2

a√2

a√3

59. If an equilateral triangle is inscribed in the circle

 then its side is

A. 

x2 + y2 − 6x − 4y + 5 = 0

√6

https://dl.doubtnut.com/l/_xEPBqO1vqqpY
https://dl.doubtnut.com/l/_u6bkwuwlOWt3
https://dl.doubtnut.com/l/_AUA2W0al5VEq


B. 2

C. 

D. 

Answer: D

Watch Video Solution

2√2

2√6

60. A circle of radius r passes through the origin and meets the axes at A

and B. The locus of the centroid of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ OAB  is

x2 + y2 = 4r2

x2 + y2 = 3r2

3(x2 + y2) = r2

9(x2 + y2) = 4r2

https://dl.doubtnut.com/l/_AUA2W0al5VEq
https://dl.doubtnut.com/l/_wdY0M8qcrSg0


61.  are two points. The

locus of the centroid of  where O is the origin is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = (cos θ, sin θ) and B = (sin θ, − cos θ)

△ OAB

x2 + y2 = 3

9x2 + 9y2 = 2

2x2 + 2y2 = 9

3x2 + 3y2 = 2

62. The equation of the circle which passes through the origin and cuts

off chords of length 2 from the lines x=y and x=-y is

A. 

B. 

x2 + y2 ± 2√2x, x2 + y2 ± 2√2y = 0

x2 + y2 ± 3√3x = 0, x2 + y2 ± 3√3y = 0

https://dl.doubtnut.com/l/_wdY0M8qcrSg0
https://dl.doubtnut.com/l/_zCqettbozrB6
https://dl.doubtnut.com/l/_gmOD22OFgXMD


C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 + 4√3x = 0, x2 + y2 ± 4√3y = 0

63. The equation of the circle concentric with

 and passing through (2, 3) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x + 8y − 23 = 0

x2 + y2 − 6x + 4y − 12 = 0

x2 + y2 − 2x + 8y − 33 = 0

x2 + y2 + 6x − 4y − 12 = 0

x2 + y2 + x + 8y + 33 = 0

https://dl.doubtnut.com/l/_gmOD22OFgXMD
https://dl.doubtnut.com/l/_Ch8f6wKr8qrY
https://dl.doubtnut.com/l/_8CfaDg3lKx0J


64. The equation of the circle concentric with

 and having radius 5 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 4y − 3 = 0

x2 + y2 − 6x + 4y − 12 = 0

x2 + y2 − 2x + 8y − 33 = 0

x2 + y2 + 6x − 4y − 12 = 0

x2 + y2 + x + 8y + 33 = 0

65. The equation of the circle concentric with the circle

 and of double its area is:

A. 

B. 

C. 

x2 + y2 − 6x + 12y + 15 = 0

x2 + y2 − 6x + 12y − 15 = 0

x2 + y2 − 6x + 12y − 30 = 0

x2 + y2 − 6x + 12y − 25 = 0

https://dl.doubtnut.com/l/_8CfaDg3lKx0J
https://dl.doubtnut.com/l/_3GXxfuVYpLIW


D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 12y − 20 = 0

66. The equation of the circle passing through the points of intersection

of the circle , the line 4x-3y-10 =0 and the

point (3, 1) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x + 4y − 20 = 0

x2 + y2 − 50x + 40y + 100 = 0

2x2 + 3y2 + 100x + 40y + 100 = 0

x2 + y2 + 50x − 40y + 100 = 0

3x2 + 4y2 + 50x + 20y + 100 = 0

https://dl.doubtnut.com/l/_3GXxfuVYpLIW
https://dl.doubtnut.com/l/_cVEbNgcNuH5W
https://dl.doubtnut.com/l/_Nnmqy4YxnBfd


67. The equation of the circle passing through (0,0), (0,a), (a,0) is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 + ax + ay = 0

x2 + y2 − ax − ay = 0

x2 + y2 + 2ax + 2ay = 0

68. The equation of the circle passing through the points (1, 1),(2,-1),(3,2) is

A. 

B. 

C. 

D. 

x2 + y2 + 2x + 3y = 0

x2 + y2 − 5x − y + 4 = 0

x2 + y2 − x − y = 0

x2 + y2 − ax − by = 0

https://dl.doubtnut.com/l/_Nnmqy4YxnBfd
https://dl.doubtnut.com/l/_lgqPqZLrWE8y


Answer: B

Watch Video Solution

69. The circle passing through the points (1, t), (t, 1) and (t, t) for all values

of t passes through the point

A. (-1,-1)

B. (-1,1)

C. (1,-1)

D. (1,1)

Answer: D

Watch Video Solution

70. The centre of the circle passing through the points (a,b),(a,-b),(a+b,a-

b) is

https://dl.doubtnut.com/l/_lgqPqZLrWE8y
https://dl.doubtnut.com/l/_v7BexglIStHV
https://dl.doubtnut.com/l/_s5ylS9KwmcYU


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 0)
a2 − b2

2b

( , 0)
√a2 − b2

2a

( , 0)
a2 + b2

2b

( , 0)
√a2 + b2

2b

71. The points (1, 1), (- 6, 0), (-2, 2). (-2,-8) are

A. concylic

B. collinear

C. vertices of a square

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_s5ylS9KwmcYU
https://dl.doubtnut.com/l/_yJ97iPfUr4UF


72. If the points (2, 3), (0, 2), (4, 5) and (0, t) are concyche, then t=

A. 1 or 2

B. 1 or 17

C. 2 or 17

D. 1 or 2 or 17

Answer: C

Watch Video Solution

73. The points (2k, 3k), (1, 0), (0, 1) and (0, 0) lie on a circle for

A. all values of k

B. 

C. 

0 ≤ k ≤ 1

k < 0

https://dl.doubtnut.com/l/_yJ97iPfUr4UF
https://dl.doubtnut.com/l/_F7VZpMyr9U7z
https://dl.doubtnut.com/l/_A9juSbTkbAp6


D. k=5/13

Answer: D

Watch Video Solution

74. If  are concyclic points, then the value of 

A. 1

B. 

C. 0

D. none

Answer: A

Watch Video Solution

(m1, 1/m1), i = 1, 2, 3, 4

m1m2m3m4  is

−1

https://dl.doubtnut.com/l/_A9juSbTkbAp6
https://dl.doubtnut.com/l/_PpwsMsHmpoQ0


75. The equation of the circle passing through the points (4, 1), (6, 5) and

having the centre on the line 4x+y- 16 =0 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 8y + 15 = 0

15(x2 + y2) − 94x + 18y + 55 = 0

x2 + y2 − 4x − 3y = 0

x2 + y2 + 6x − 4y = 0

76. The equation of the circle having centre on the line 3x +4y =5 and

passing through the points (1,-2), (4,-3) is

A. 

B. 

C. 

x2 + y2 − 4x − 3y = 0

x2 + y2 + 6 × + 2y + 5 = 0

x2 + y2 + 6x − 2y + 5 = 0

https://dl.doubtnut.com/l/_ERkmrK1kDNAe
https://dl.doubtnut.com/l/_nxIMjWYNSDDR


D. 

Answer: D

Watch Video Solution

x2 + y2 − 6x + 2y + 5 = 0

77. The equation of the circle passing through (2, 0) and (0, 4) and having

the minimum radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 20

x2 + y2 − 2x − 4y = 0

x2 + y2 = 4

x2 + y2 = 16

https://dl.doubtnut.com/l/_nxIMjWYNSDDR
https://dl.doubtnut.com/l/_mAHaehnLTFlA


78. A circle with centre at (2, 4) is such that the line x+y+2 =0 cuts a chord

of length 6. The radius of the circle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√11

√21

√31

√41

79. The equation of the circle passing through the origin and cuts of

intercepts -6 and 4 on the axes as

A. 

B. 

C. 

x2 + y2 − 6x − 8y + 15 = 0

15(x2 + y2) − 94x + 18y + 55 = 0

x2 + y2 − 4x − 3y = 0

https://dl.doubtnut.com/l/_9SyU5DbgBXiE
https://dl.doubtnut.com/l/_gONq36kBXBvJ


D. 

Answer: D

Watch Video Solution

x2 + y2 + 6x − 4y = 0

80. The equations of the circles which pass through the origin and makes

intercepts of lengths 4 and 8 on the x and y axis respectively, are :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 ± 4x ± 8y = 0

x2 + y2 ± 2x ± 4y = 0

x2 + y2 ± 8x ± 16y = 0

x2 + y2 ± x ± y = 0

https://dl.doubtnut.com/l/_gONq36kBXBvJ
https://dl.doubtnut.com/l/_9fHFzsVU0LKR


81. Circles are drawn through the point (2, 0) to cut intercepts of length 5

unit on the X-axis. If their centres lie in the first quadrant, then their

equation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 9x + 2ky + 14 = 0

3x2 + 3y2 + 27x − 2ky + 42 = 0

x2 + y2 − 9x − 2ky + 42 = 0

x2 + y2 − 2kx − 9y + 14 = 0

82. The equation to the cicle of radius 5. which pass through the two

points on the x-axis which are at a distance of 4 from the origin is

A. 

B. 

x2 + y2 − 6x − 16 = 0

x2 + y2 − 6y − 25 = 0

https://dl.doubtnut.com/l/_2OqDokb4yjEK
https://dl.doubtnut.com/l/_nSS8NnmaTurj


C. 

D. none

Answer: C

Watch Video Solution

x2 + y2 + 6y − 16 = 0

83. ABCD is a square with side a. If AB and AD are taken as coordiate axes.

Then the equation of the circle circumseribing the square is.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − ax − ay = 0

x2 + y2 + ax + ay = 0

x2 + y2 − 2ax − 2ay = 0

x2 + y2 + 2ax + 2ay = 0

https://dl.doubtnut.com/l/_nSS8NnmaTurj
https://dl.doubtnut.com/l/_cpqsjtdwT2iE
https://dl.doubtnut.com/l/_74mJKsgauSEs


84. ABCD is a rectangle wih sides AB=p, BC=q,. If AB and AD are taken

negative directions of coordinate axes. then the equaton of the

circumscribing the rectangle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + px + qy = 0

x2 + y2 − px − qv = 0

x2 + y2 + 2px + 2qy = 0

x2 + y2 − 2px − 2py = 0

85. The equation to the circle circumseribing the triangle forced by the

lines x-y-2=0, 2x-3y+4=0, 3x-y+6=0 is

A. 

B. 

x2 + y2 − 17x − 19y + 50 = 0

3(x2 + y2) + 2x − 40y + 20 = 0

https://dl.doubtnut.com/l/_74mJKsgauSEs
https://dl.doubtnut.com/l/_jj4vbTqGvDMU


C. 

D. 

Answer: C

View Text Solution

x2 + y2 − 24x + 16y − 52 = 0

x2 + y2 + 12x + 12y + 7 = 0

86. The equation of the circle circumscribing the triangle formed by x=0,

y=0 and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

mx + ly = lm

x2 + y2 − l2 + m2

x3 + y2 + lx + my = 0

x3 + y2 − lx − my = 0

x2 + y2 − lx − my + lm = 0

https://dl.doubtnut.com/l/_jj4vbTqGvDMU
https://dl.doubtnut.com/l/_ssgbAUuV1Q0V
https://dl.doubtnut.com/l/_KTGYuZBJwMKC


87. The circumcentre of the triangle formed by the lines x+y=0, x-y=0 and

lx+my=1 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , )
1

l2 + m2

−m

l2 + m2

( , )
1

l2 − m2

−m

l2 − m2

( ,
1

(l + m)2

−m

(l − m2)

( , )
1

(l + m)2

−m

(l − m)2

88. A rectangle ABCD is inscribed in a circle with a diameter lying along

the line 3y=x+10. If A=(-6,7), B=(4,7) then the area of the rectangle is

A. 80 sq. unit

B. 40 sq. unit

C. 160 sq. unit

https://dl.doubtnut.com/l/_KTGYuZBJwMKC
https://dl.doubtnut.com/l/_fcPIHhCg1uQa


D. 20 sq. unit

Answer: A

Watch Video Solution

89. If 4y=x +7 is a diameter of the circumscribing circle of the rectangle

ABCD and A(-3,4), B(5,4). then the area of the rectangle.

A. 31 s.n

B. 32 s.n

C. 35 s.n

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fcPIHhCg1uQa
https://dl.doubtnut.com/l/_MXLmPf8QOMjE


90. A circle is inscribed ina n equilateral triangle and a square is inscribed

in the circle. The ratio of the area of the triangle to the area of the square

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3: √2

√3: 1

3√3: 2

3: √2

91. A and B are fixed points and P moves such that PA=nPB and . The

locus of P is

A. straight line

B. pair of straight lines

n ≠ 1

https://dl.doubtnut.com/l/_viD4DwsF0ARk
https://dl.doubtnut.com/l/_OyueJKOyC6BB


C. circle

D. none

Answer: C

Watch Video Solution

92. The locus of a point, which moves in such a way that the sum of the

squares of its distances from the four sides of a square is consant

 is

A. a straight line

B. a circle

C. an ellipse

D. parabola

Answer: B

Watch Video Solution

( = 2c2)

https://dl.doubtnut.com/l/_OyueJKOyC6BB
https://dl.doubtnut.com/l/_VjS01kjQ5ek3


93. If a point moves so that sum of the square of the perpendiculars from

it on the side of an equilateral triangle is consant then its locus is a

A. line

B. circle

C. pair of lines

D. none

Answer: B

Watch Video Solution

94. A square is inscribed in the circle  with its

sides parallel to the coordinate axes. One vertex of the square is

A. 

B. 

x2 + y2 − 2x + 4y − 3 = 0

(1 + √2, − 2)

(1 − √2, − 2)

https://dl.doubtnut.com/l/_VjS01kjQ5ek3
https://dl.doubtnut.com/l/_gAKb2xwV6Zhy
https://dl.doubtnut.com/l/_RhW7YUzr8vLd


C. 

D. none

Answer: D

Watch Video Solution

(1, − 2 + √2)

95. A square is inscribed in the circle  with

its sides parallel to the coordinate axes. One vertex of the square is

A. (5,8)

B. (5,3)

C. (8,-5)

D. (-1,5)

Answer: B

Watch Video Solution

x2 + y2 − 2x + 4y − 93 = 0

https://dl.doubtnut.com/l/_RhW7YUzr8vLd
https://dl.doubtnut.com/l/_H2Whds3q4Kda
https://dl.doubtnut.com/l/_jYmFo003SDB0


96. The number of points here the circle  cuts the

sides of the rectangle formed by x=2, x=5, y=-1 and y=5 is

A. 5

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

x2 + y2 − 4x − 4y = 1

97. The shortest distançe from (-2, 14) to the circle

A. 8

B. 4

C. 2

x2 + y2 − 6x − 4y − 12 = 0  is 

https://dl.doubtnut.com/l/_jYmFo003SDB0
https://dl.doubtnut.com/l/_UpCzo75gF85F


D. 1

Answer: A

Watch Video Solution

98. The longest distance from (-3, 2) to the circle

A. 8

B. 4

C. 18

D. 6

Answer: D

Watch Video Solution

x2 + y2 − 2x + 2y + 1 = 0  is 

https://dl.doubtnut.com/l/_UpCzo75gF85F
https://dl.doubtnut.com/l/_TfWzMsWhKUAx


99. The nearest point on the circle

A. (1,1)

B. (-1,1)

C. (-1,2)

D. (-2,2)

Answer: B

Watch Video Solution

x2 + y2 − 6x + 4y − 12 = 0  from ( − 5, 4)  is 

100. The furthest point the circle

A. (5,-7)

B. (-1,1)

C. (-1,2)

x2 + y2 − 4x + 6y − 12 = 0  from ( − 13, 17)  is

https://dl.doubtnut.com/l/_SyuPy6ZEjsiH
https://dl.doubtnut.com/l/_XCmk5XNo7Va5


D. (-2,2)

Answer: A

Watch Video Solution

101. The sum of the minimum and maximum distances of the point (4,-3)

to the circlex^2 +y^2+4x-10y-7=0

A. 10

B. 12

C. 16

D. 20

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XCmk5XNo7Va5
https://dl.doubtnut.com/l/_IkPDb2f16cgL


102. The least distance of the line 8x-4y+73=0 from the circle

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16x2 + 16y2 + 48x − 8y − 43 = 0

√5/2

2√5

3√5

4√5

103. The locus of the point whose shortest distance from the circle

 is equal to its distance from the line x-3=0 is

A. 

B. 

C. 

x2 − 2x + 6y − 6 = 0

x2 + 6y − 4x − 9 = 0

y2 − 6y + 4x + 9 = 0

x2 − 6y − 4x − 9 = 0

https://dl.doubtnut.com/l/_fPOxjTprwdf7
https://dl.doubtnut.com/l/_VZ5BFkVt97pK


D. 

Answer: D

Watch Video Solution

y2 + 6y − 4x + 9 = 0

104. The circle  is inscribed in a triangle which

has two of its sides stong the coordinate axes. The locus of the

circumcentre of the triangle is . Then k=

A. 0

B. 1

C. 

D. 2

Answer: B

View Text Solution

x2 + y2 − 4x − 4y + 4 = 0

x + y − xy + k(x2 + y2)
1 / 2

= 0

−1

https://dl.doubtnut.com/l/_VZ5BFkVt97pK
https://dl.doubtnut.com/l/_DDvlAPkKEY2w
https://dl.doubtnut.com/l/_sDV5BMKQ7N8b


105. A circle of radius unit is inscribed in a triangle whose two of its sides

are along coordinate axes. The locus of the circumcentre of the triangle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y − xy = √x2 + y2

√x2 + y2 = x + y + xy

x + y − 2xy + √x2 + y2 = 0

√x2 + y2 = 2xy + x + y

106. The equation to the side BC of . If (-3, 2) is

the orthocentre of . The point where the altitude through A

meets the circumcircle of the triangie is.

A. (2,7)

B. (2,-7)

△ ABC  is x + 5 = 0

△ ABC

https://dl.doubtnut.com/l/_sDV5BMKQ7N8b
https://dl.doubtnut.com/l/_WFU3wUXSKaEM


C. (-7,2)

D. (7,-2)

Answer: C

Watch Video Solution

107. Given A=(0,6),B=(4,0),C=(-3,0),D=(0,-2) concylic points, the orthocentre

of 

A. (2,0)

B. (0,-2)

C. (0,2)

D. (2,2)

Answer: C

Watch Video Solution

△ ABC  is

https://dl.doubtnut.com/l/_WFU3wUXSKaEM
https://dl.doubtnut.com/l/_IhMglMf3n8DU
https://dl.doubtnut.com/l/_FL6jnjuMnW20


108. P is a point on the circuncirCle of an. equilateral trIngle ABC of side a.

Then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PA2 + PB2 + PC 2 =

4a2

3a2

2a2

a2

109. Let P be a point on the cirele , Q a point on the line and

the Pendicular bisecior of PQ be the line x-y+1=0. Then the coordinate of P

are

A. (3,0)

B. (0,3)

x2 + y2 = 9

https://dl.doubtnut.com/l/_FL6jnjuMnW20
https://dl.doubtnut.com/l/_ZCSyFAk9AD7E


C. (72/25,-21/25)

D. (72/25,21/25)

Answer: A

View Text Solution

110. The equation of the image of the circle 

by the line mirror x+y-1=0 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 4y + 12 = 0

x2 + y2 + 2x + 4y + 4 = 0

x2 + y2 − 2x + 4y + 4 = 0

x2 + y2 + 2x + 4y − 4 = 0

x2 + y2 + 2x − 4y + 4 = 0

https://dl.doubtnut.com/l/_ZCSyFAk9AD7E
https://dl.doubtnut.com/l/_If4JphZISoYD


Exercise 1B(Circle-Line)

1. The equation of the tangent to the cirele

A. x+2y-10=0

B. x+y+5=0

C. 3x+2y-13=0

D. 2x+3y-23=0

Answer: B

Watch Video Solution

x2 + y2 − 2x − 4y + 3 = 0  at (2, 3)is

2. The equation of the tangent at (1, 1) to the circle

 is

A. 2x+y-1=0

2x2 + 2y2 − 2x − 5y + 3 = 0

https://dl.doubtnut.com/l/_kIVhwe1Uz3kS
https://dl.doubtnut.com/l/_VdGjTi9ZEN7t


B. 2x-y-1=0

C. x+2y-1=0

D. 2x+y+1=0

Answer: B

Watch Video Solution

3. The equation of the normal to the circle  at

(1,-2) to is

A. y+1=0

B. y+2=0

C. y+3=0

D. y-2=0

Answer: B

Watch Video Solution

x2 + y2 + 6x + 4y − 3 = 0

https://dl.doubtnut.com/l/_VdGjTi9ZEN7t
https://dl.doubtnut.com/l/_ukw4CgsmE3tX


4. The equation to the normal to the circle  at the

point (3,1) on it is

A. x=1

B. y=2

C. y=1

D. y=-1

Answer: C

Watch Video Solution

x2 + y2 − 2x − 2y = 0

5. The normal of the circle  which bisects the

chord cut off by the line x-2y-3=0 is

A. 2x+y+3=0

B. 2x+y-4=0

(x − 2)2 + (y − 1)2 = 16

https://dl.doubtnut.com/l/_ukw4CgsmE3tX
https://dl.doubtnut.com/l/_SV1Rv2tZfpuE
https://dl.doubtnut.com/l/_9lwAAD3I5znb


C. 2x+y-5=0

D. none

Answer: C

Watch Video Solution

6. The normal drawn at P(-1, 2) on the circle 

meets the circle at another point Q. Then the coordinates of Q are

A. (3,0)

B. (-3,0)

C. (2,0)

D. (-2,0)

Answer: A

Watch Video Solution

x2 + y2 − 2x − 2y − 3 = 0

https://dl.doubtnut.com/l/_9lwAAD3I5znb
https://dl.doubtnut.com/l/_B9GW2hwCM8qX
https://dl.doubtnut.com/l/_TuwYlVPZ7j9U


7. If 3x+4y+k=0 is a tangent to the circle 

A. 

B. 

C. 

D. 4

Answer: A

Watch Video Solution

x2 + y2 = 16  then k =

±20

−1, − 5

±2

8. If the line y=2x+c is a tangent to the circle  then a value of

c is

A. 2

B. 3

C. 4

D. 5

x2 + y2 = 5

https://dl.doubtnut.com/l/_TuwYlVPZ7j9U
https://dl.doubtnut.com/l/_YYyKskXAB9TQ


Answer: D

Watch Video Solution

9. If x+y+k=0 is a tangent to the circle

A. 

B. 

C. 

D. 4

Answer: C

Watch Video Solution

x2 + y2 − 2x − 4y + 3 = 0  then k =

±20

−1, − 5

±2

10. The line  touches the circle x cosα + y sinα = p

x2 + y2 − 2ax cosα − 2ay sinα = 0. thenp =

https://dl.doubtnut.com/l/_YYyKskXAB9TQ
https://dl.doubtnut.com/l/_tVs0USqmk474
https://dl.doubtnut.com/l/_qX3c9jyaoNPd


A. a

B. 2a

C. 

D. 

Answer: B

Watch Video Solution

−a

a/2

11. The slope m of a tangent through the point (7,1) to the circle

 satisfies the equation.

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 = 25

12m2 + 7m − 12 = 0

12m2 + 7m + 9 = 0

12m2 − 7m − 12 = 0

9m2 + 12m + 16 = 0

https://dl.doubtnut.com/l/_qX3c9jyaoNPd
https://dl.doubtnut.com/l/_Epfp59OAfBZX


Watch Video Solution

12. The equation of the tangent to the circle 

which makes  with the x axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x + 2y − 7 = 0

45∘

y = x√3 + 1

y = x ± √3

y = x ± 3√2

y = x√2 + 3

13. Equation of the tangent to the circle , which is inclined at 

 with the x-axis is

A. 

x2 + y2 = 3

60∘

y = √3x + 2√3

https://dl.doubtnut.com/l/_Epfp59OAfBZX
https://dl.doubtnut.com/l/_bDzVw1KGzxba
https://dl.doubtnut.com/l/_STx0N44EzNuD


B. 

C. 

D. none

Answer: A

Watch Video Solution

y√3 = x + 2√3

y = − x√3 + 4√3

14. The radius of the circle which has the lines  ,

 as tengent is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y − 1 = 0

x + y − 9 = 0

√2

2√2

3√2

4√2

https://dl.doubtnut.com/l/_STx0N44EzNuD
https://dl.doubtnut.com/l/_cCaXaLXBtQwH


15. The radius of any circle touching the lines

A. 1

B. 23/15

C. 20/19

D. 19/20

Answer: D

Watch Video Solution

3x − 4y + 5 = 0, 6x − 8y − 9 = 0  is 

16. If the lines 3x+4y-14=0 and 6x+8y+7=0 are both tangents to a circle,

then its radius is

A. 7

B. 7/2

https://dl.doubtnut.com/l/_cCaXaLXBtQwH
https://dl.doubtnut.com/l/_nP10mYpzkUUF
https://dl.doubtnut.com/l/_S2aijDytshaE


C. 

D. 

Answer: C

Watch Video Solution

7/4

7/6

17. How many circles can be drawn each touching all the three lines x+y=1,

x+1=y, 7x-y=6

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_S2aijDytshaE
https://dl.doubtnut.com/l/_0nhnap9hSswq
https://dl.doubtnut.com/l/_oJcQQjdyQdmd


18. The number of circles that touches all the three lines x+y-1=0, x-y-1=0

and y+1=0 is

A. 2

B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

19. If the equatio of one tangent to the circle with centre (2,-1) from the

origin is 3x+y=0, then the equation of the other tangent through the

origin is

A. 3x-y=0

B. x+3y=0

https://dl.doubtnut.com/l/_oJcQQjdyQdmd
https://dl.doubtnut.com/l/_AqECjR5XHdYM


C. x-3y=0

D. x+2y=0

Answer: C

Watch Video Solution

20. If y=3x is a tangent to a circle with centre (1,1) then the other tangent

drawn through (0,0) to the circle is

A. 3y=x

B. y=-3x

C. y=2x

D. y=-2x

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AqECjR5XHdYM
https://dl.doubtnut.com/l/_DJfrKkyqeRZT
https://dl.doubtnut.com/l/_oZwAQDISKq3i


21. The equation of the tangents to the circle

 and parallel to 4x-3y=1 are

A. 4x+3y+14=0, 4x+3y+16=0

B. 4x-2y-24=0, 4x-3y+26=0

C. x-y-14=0, x-y+16=0

D. 4x-3y+34=0, 4x-3y+16=0

Answer: B

Watch Video Solution

x2 + y2 − 4x − 6y − 12 = 0

22. The equation of the tangent to the circle 

and perpendicular to 2x+3y+5=0 are

A. 

B. 

C. 

x2 + y2 + 8x − 4y − 5 = 0

2x + 3y + 2 ± 5√13 = 0

2x + 3y + 2 + 2√13 = 0

x + y + 12 − 3√13 = 0

https://dl.doubtnut.com/l/_oZwAQDISKq3i
https://dl.doubtnut.com/l/_Q0AklXiJjxVV


D. 

Answer: D

Watch Video Solution

3x − 2y + 16 ± 5√13 = 0

23. The equation of the tangents to the circle

 and having slope 3 are

A. 

B. 3x+3y+33=0, 3x+y-27=0

C. 3x-y+23=0, 3x-y-37=0

D. 3x-y+13=0, 3x-y-27=0

Answer: D

Watch Video Solution

x2 + y2 − 2x + 8y − 23 = 0

x − y + 13 = 0, x − y − 27 = 0

https://dl.doubtnut.com/l/_Q0AklXiJjxVV
https://dl.doubtnut.com/l/_6kB7LyryrJ7L


24. The equation of the tangent to the circle  which are

inclined at an angle of  to the x-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 16

60∘

y = √3x ± 8

x = √3x ± 8

2y = √3x − 8

2x = √3x − 8

25. The equation of the tangent to the circle 

which make equal intercepts on the positive coordinates, is

A. 

B. 

C. 

x2 + y2 + 4x − 4y + 4 = 0

x + y = 2

x + y = √2

x + y = 2√2

https://dl.doubtnut.com/l/_69JgP3Q3EnS2
https://dl.doubtnut.com/l/_c4jtLc1Vbu6s


D. none

Answer: C

Watch Video Solution

26.  are two

circles. The lines x=2 is a

A. tangent for both

B. diameter for both

C. tangent to the first and diameter of the sector

D. diameter of first and tangent to second

Answer: D

Watch Video Solution

x2 + y2 − 4x − 6y + 9 = 0 and (x + 3)2 + (y + 2)2 = 25

https://dl.doubtnut.com/l/_c4jtLc1Vbu6s
https://dl.doubtnut.com/l/_6hD5UEmZXKtT


27. P(-9,-1) is a point on the circle . The

equation to the tangent at the other end of the diameter thorugh P is

A. 7x-3y=60

B. 7x+3yt=56

C. 7x-3y=56

D. 7x+3y=60

Answer: C

Watch Video Solution

x2 + y2 + 4x + 8y − 38 = 0

28. The area of the triangle formed with the coordinate axes and the

tangent drawn at the point (-12,5) on the circle  is

A. 

B. 

C. 

x2 + y2 = 169

( )
625

24

( )
28561

120

225

23

https://dl.doubtnut.com/l/_BNULN0Befan0
https://dl.doubtnut.com/l/_3OekvUz6lQJa


D. 

Answer: B

Watch Video Solution

8561

20

29. The equations of the tangents to the circles  which

makes with axes a triangle af area  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = a2

a2

y = ± x ± 2a

y = ± x ± √3a

y = ± x ± a

y = ± x ± a√2

https://dl.doubtnut.com/l/_3OekvUz6lQJa
https://dl.doubtnut.com/l/_FqC2VNd1xCrF


30. The area of triangle formed by the positive x-axis and the tangent and

the normal at  to the circle  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(1, √3) x2 + y2 = 4

3√2

2√3

5√2

31. Let A be the centre of the circle .

Suppose that the tangent at the points B(1,7) and D(4,-2) on the circle

meet at the point C. The area of the quadrilateral ABCD is

A. 75 sq. unit

B. 145 sq. unit

x2 + y2 − 2x − 4y − 20 = 0

https://dl.doubtnut.com/l/_kLReL1ACw9Nz
https://dl.doubtnut.com/l/_ATrDzKxWwqOr


C. 150 sq. unit

D. 50 sq. unit

Answer: A

Watch Video Solution

32. If a tangnet drawn from the point (4,0) to the circle 

touches it at a point A in the first quadrant, then the coordinates of

another point B on the circle such that AB=4 are

A. (2,-2) or (-2,2)

B. (1,-2) or (-2,1)

C. (-1,1) or (1,-1)

D. (3,-2) or (-3,2)

Answer: A

Watch Video Solution

x2 + y2 = 8

https://dl.doubtnut.com/l/_ATrDzKxWwqOr
https://dl.doubtnut.com/l/_GIYEv0XCZwT4


33. The tangent at (3,4), (4,-3) to the circle 

A. coincide

B. parallel

C. perpendicular

D. at an angle of 

Answer: C

Watch Video Solution

x2 + y2 = 25  are

45∘

34. If the tangents at (5,12) and (12,-5) to a circle are perpendicular to each

other then the radius of the circle is

A. 12

B. 5

C. 13

https://dl.doubtnut.com/l/_GIYEv0XCZwT4
https://dl.doubtnut.com/l/_ZsVTDbEvXA09
https://dl.doubtnut.com/l/_NJwdTCqu8Dcl


D. none

Answer: C

Watch Video Solution

35. The locus of the point of intersection of two perpendicular tangents

to the circle 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2is

x2 + y2 = a2 /2

x2 + y2 = a2 /3

x2 + y2 = 2a2

x2 + y2 = 3a2

https://dl.doubtnut.com/l/_NJwdTCqu8Dcl
https://dl.doubtnut.com/l/_dLwGohM3nMas


36. The locus of the point of intersection of the perpendicular tangents

to the circle 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 = a2is 

x2 + y2 − 4x + 6y − 12 = 0

x2 + y2 − 4x + 6y − 17 = 0

x2 + y2 − 4x + 6y − 37 = 0

x2 + y2 − 4x + 6y + 13 = 0

37. The locus of the point of intersection of the perpendicular tangents to

the circle 

A. 

B. 

C. 

x2 + y2 = a2, x2 + y2 = b  is 

x2 + y2 = a2 + b2

x2 + y2 = a2 − b2

x2 + y2 = (a + b)2

https://dl.doubtnut.com/l/_ubbTYqf0pbKF
https://dl.doubtnut.com/l/_7aZuclWFmJLq


D. 

Answer: A

Watch Video Solution

x2 + y2 = (a − b)2

38. If the tangent from a point P to the circle  is

perpendicular to the tangent from P to the circle , then the

locus of P is

A. a circle of radius

B. a circle of radius

C. a circle of radius

D. none

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 3

https://dl.doubtnut.com/l/_7aZuclWFmJLq
https://dl.doubtnut.com/l/_DgtgBVilJfEq
https://dl.doubtnut.com/l/_irAJ3BWo1CJp


39. The locus of the point of intersection of two tangents drawn to the

circle  which makes a constant angle  to each other is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 = a2 α

(x2 + y2 − a2)
2

= 4a2(x2 + y2 + a2)tan2 α

(x2 + y2 − a2)
2

= 4a2(x2 + y2 + a2)cot2 α

(x2 + y2 − 2a2)
2

= 4a2(x2 + y2 − a2)cot2 α

(x2 + y2 − 2a2)
2

= 4a2(x2 + y2 − a2)

40. The locus of the feet of the perpendicular drawn from the point (a,0)

on tangent to the circle 

A. 

B. 

C. 

x2 + y2 = a2  is

(x2 + y2 + ax)
2

= a2[y2 + (x − a)2]

(x2 + y2 − ax)
2

= a2[y2 + (x − a)2]

a2(x + y)2 − (ax)2 = a2[(x − y)2 + a2]

https://dl.doubtnut.com/l/_irAJ3BWo1CJp
https://dl.doubtnut.com/l/_bTGuGStwiUvZ


D. none

Answer: B

Watch Video Solution

41. The locus of the middle points of portions of the tangents to the

circle  terminated by the axes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = a2

+ =
1

x2

1

y2

4

a2

+ =
1

x2

1

y2

2

a2

− =
1

x2

1

y2

4

a2

+ =
1

x2

1

y2

1

a2

https://dl.doubtnut.com/l/_bTGuGStwiUvZ
https://dl.doubtnut.com/l/_WHRVtz7IwLuv


42. If , then the line lx+my+1=0 touches the

circle

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4t2 − 5m(2) + 6l + 1 = 0

x2 + y2 + 6x − 4 = 0

x2 + y2 − 6x + 4 = 0

x2 + y2 + 5x + 4 = 0

x2 + y2 − 2x + 5 = 0

43. The locus of the point (l,m) if the line lx+my=1 touches the circles

 is

A. 

B. 

C. 

x2 + y2 = a2

x2 + y2 = 2a2

2x2 + 2y2 = a2

a2(x2 + y2) = 1

https://dl.doubtnut.com/l/_UGspt50frErw
https://dl.doubtnut.com/l/_4NIpZHRmNtvi


D. 

Answer: C

Watch Video Solution

a2(x2 + y2) = 2

44. A tangent to the circle  meets the coordinate axes at P

and Q. The locus of midpoint of PQ is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 = 4

+ = 1
1

x2

1

y2

+ =
1

x2

1

y2

1

4

− =
1

x2

1

y2

1

2

https://dl.doubtnut.com/l/_4NIpZHRmNtvi
https://dl.doubtnut.com/l/_HQ7fwYgQQzFj


45. The tangents to  having inclinations  intersect

at P. If , then the locus of P is

A. x+y=0

B. x-y=0

C. xy=0

D. none

Answer: C

Watch Video Solution

x2 + y2 = a2 α and β

cot α + cot β = 0

46. A line segment AM=a moves in the XOY plane such that AM is parallel

to the X-axis. If A moves along the circle , then the locus of

M is

A. 

B. 

x2 + y2 = a2

x2 + y2 = 4a2

x2 + y2 = 2ax

https://dl.doubtnut.com/l/_f7k5CuSftzcY
https://dl.doubtnut.com/l/_gJGBO2qK8cRB


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 2ay

x2 + y2 = 2ax + 2ay

47. The circle 

A. touches both the axes

B. touches the x-axis only

C. touches the y-axis only

D. does not touch the axes

Answer: A

Watch Video Solution

4x2 + 4y2 − 12x − 12y + 9 = 0

https://dl.doubtnut.com/l/_gJGBO2qK8cRB
https://dl.doubtnut.com/l/_ykrLGOM0trsk


48. If  touches x-axis then k=

A. 

B. 

C. 

D. 4

Answer: D

Watch Video Solution

x2 + y2 − 4x − 6y + k = 0

±20

−1, − 5

±2

49. If  to touch y-axis then k=

A. 

B. 

C. 

D. 4

x2 + y2 + 6x + 2ky + 25 = 0

±20

+5, − 5

±2

https://dl.doubtnut.com/l/_9S2Vwvu9ubJI
https://dl.doubtnut.com/l/_NoTbkkD01VdV


Answer: B

Watch Video Solution

50. Find the equation of the circle with centre 

 and touching  axis.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3, 4) y −

x2 + y2 − 4x − 6y + 4 = 0

x2 + y2 + 6x − 8y + 16 = 0

x2 + y2 − 8x − 6y + 21 = 0

x2 + y2 − 24x − 10y + 144 = 0

51. Find the equation of the circle with centre 

 and touching  axis.( − 3, 4) y −

https://dl.doubtnut.com/l/_NoTbkkD01VdV
https://dl.doubtnut.com/l/_wndKx7wS4ziu
https://dl.doubtnut.com/l/_Dbr9bFIiw3Bk


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4x − 6y + 4 = 0

x2 + y2 + 6x − 8y + 16 = 0

x2 + y2 − 8x − 6y + 21 = 0

x2 + y2 − 24x − 10y + 144 = 0

52. The equation of a circle with centre (4,1) and having 3x+4y-1=0 as

tangent is

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 − 8x − 2y − 8 = 0

x2 + y2 − 8x − 2y + 8 = 0

x2 + y2 − 8x + 2y + 8 = 0

x2 + y2 − 8x − 2y + 4 = 0

https://dl.doubtnut.com/l/_Dbr9bFIiw3Bk
https://dl.doubtnut.com/l/_EyBGuJZtZPFA


Watch Video Solution

53. The equation of the circle touching both axes, lying in the first

quadrant and having the radius 3 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 + 10x − 10y + 25 = 0

x2 + y2 + 2x + 2y + 1 = 0

x2 + y2 − 4x + 4y + 4 = 0

54. The equation of the circle of radius 3 that lies in the fourth quadrant

and touching the lines x=0 and y=0 is

A. x2 + y2 − 6x + 6y + 9 = 0

https://dl.doubtnut.com/l/_EyBGuJZtZPFA
https://dl.doubtnut.com/l/_Yxqkcp9mfedn
https://dl.doubtnut.com/l/_aO5yJDiX9iKi


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 + 6x − 6y + 9 = 0

x2 + y2 + 6x + 6y + 9 = 0

55. The equation of the cirlce touching both the axes lying in the third

quadrant and having the radius 3 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 + 10x − 10y + 25 = 0

x2 + y2 + 6x − 6y + 9 = 0

x2 + y2 + 6x + 6y + 9 = 0

https://dl.doubtnut.com/l/_aO5yJDiX9iKi
https://dl.doubtnut.com/l/_vLuaDjlBhJDJ


56. The equation of the circle passing through (2,1) and touching the

coordinate axes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 + 2x + 2y + 1 = 0

x2 + y2 − 2x − 2y − 1 = 0

x2 + y2 + 2x + 2y − 1 = 0

57. The equation of the circles touching the coordinate axes and passing

through the point (k,2k) where  is

A. 

k > 0

2x2 + 2y2 + 12kx − 12ky + k2 = 0, 4x2 + 4y2 − 10kx − 10ky + 25k2

https://dl.doubtnut.com/l/_vLuaDjlBhJDJ
https://dl.doubtnut.com/l/_3rvg4f4E4JQ5
https://dl.doubtnut.com/l/_qKyCP76vBThC


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − kx − 2ky + k2 = 0, x2 + y2 − 10kx − 10ky + 25k2 = 0

x2 + y2 + 2kx + 2ky + k2 = 0, x2 + y2 + 10kx + 10ky + 25k2 = 0

x2 − y2 − 2kx − 2ky − k2 = 0, x2 − y2 − 10lx − 10ky − 25k2 = 0

58. The equation of the circles touching the axes at (5,0) and (0,5) is

A. 

B. 

C. 

D. none

x2 + y2 − 5x − 10y + 7 = 0

2(x2 + y2) − 5x − 5y + 7 = 0

x2 + y2 − 10x − 10y + 25 = 0

https://dl.doubtnut.com/l/_qKyCP76vBThC
https://dl.doubtnut.com/l/_r4AJNhxu2Vpi


Answer: C

Watch Video Solution

59. The equation of the cirles touch the x-axis (3,0) and make an intercept

8 units on y-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + y2 + 10x − 8y − 16 = 0

x2 + y2 − 6x ± 10y + 9 = 0

x2 + y2 − 10x ± 26y + 25 = 0

x2 + y2 ± 26 + 24y + 144 = 0

60. The centre of the circle touching the y-axis at (0,3) and making an

intercept 2 unit on positive x-axis is

https://dl.doubtnut.com/l/_r4AJNhxu2Vpi
https://dl.doubtnut.com/l/_PVNYDrADXMwg
https://dl.doubtnut.com/l/_UkQtfYNuOxeK


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(10, √3)

(√3, 10)

(√10, 3)

(3, √10)

61. Equation of the circle touching the y-axis at  and cuts the x-

axis in the points (-1,0) and (-3,0) is

A. 

B. 

C. 

D. none

Answer: A

(0, √3)

x2 + y2 + 4x − 2y√3 + 3 = 0

x2 + y2 − 4x + 2y√3 = 0

x2 + y2 = 0

https://dl.doubtnut.com/l/_UkQtfYNuOxeK
https://dl.doubtnut.com/l/_NRGYWLaBKkP0


Watch Video Solution

62. The equation of the circles which touch the x-axis at the origin and

the line 4x-3y+24=0

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6y = 0, x2 + y2 + 24y = 0

x2 + y2 + 2y = 0, x2 + y2 − 18y = 0

x2 + y2 + 18x = 0, x2 + y2 − 8x = 0

x2 + y2 + 4x = 0, x2 + y2 − 16x = 0

63. The equation of the circles which touch the y-axis at the origin and

the line 5x+12y-72=0 is

A. x2 + y2 − 6y = 0, x2 + y2 + 24y = 0

https://dl.doubtnut.com/l/_NRGYWLaBKkP0
https://dl.doubtnut.com/l/_tNTsdRZHbU58
https://dl.doubtnut.com/l/_6XbUmjAVZom9


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2y = 0, x2 + y2 − 18y = 0

x2 + y2 + 18x = 0, x2 + y2 − 8x = 0

x2 + y2 + 4x = 0, x2 + y2 − 16x = 0

64. The equation of the circle touching the y-axis at the origin and

passing through (b,c) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

b(x2 + y2) = x(b2 − c2)

b(x2 + y2) = y(b2 + c2)

b(x2 + y2) = x(b2 + c2)

b(x2 + y2) = y(b2 − c2)

https://dl.doubtnut.com/l/_6XbUmjAVZom9
https://dl.doubtnut.com/l/_9tyCJx4B7TLE


65. The equation of the cirles touching the coordinate axes and the line

x+2=0

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x + 2y − 1 = 0

x2 + y2 − 2x + 2y + 1 = 0

x2 + y2 + 2x + 2y + 1 = 0

x2 + y2 + 2x − 2y − 1 = 0

66. The equation of a circle touching the coordinate axes and the line

 is

A. 

B. 

3x − 4y = 12

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 − 6x − 6y + 9 = 0

https://dl.doubtnut.com/l/_9tyCJx4B7TLE
https://dl.doubtnut.com/l/_xsZi3Q7wiX4Q
https://dl.doubtnut.com/l/_AA5ARyXpSkcZ


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 6x − 6y + 9 = 0

x2 + y2 + 6x + 6y + 9 = 0

67. The equation of the circle in the first quadrant which touch the co-

ordinate axes and the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 4y = 12

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 + 6x + 6y + 19 = 0

x2 + y2 = 2x = 2y + 1 = 0

https://dl.doubtnut.com/l/_AA5ARyXpSkcZ
https://dl.doubtnut.com/l/_HSPDNJE8OVac
https://dl.doubtnut.com/l/_J2YybxNadlEn


68. Theq equation of the circle which touches the lines x=0, y=0 and x=c is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = cx − cy + c2 = 0

x2 + y2 − 2cx − 2cy + c2 = 0

x2 + y2 + cx + cy + c2 /4 = 0

x2 + y2 − cx − cy + c2 /4 = 0

69. The circle passing through (1,-2) and touching the axis of x at (3,0) also

passes through the point:

A. (5,-2)

B. (-2,5)

C. (-5,2)

D. (2,-5)

https://dl.doubtnut.com/l/_J2YybxNadlEn
https://dl.doubtnut.com/l/_gQWZimwhPKLz


Answer: A

Watch Video Solution

70. ABCD is a square 2a unit. Taking AB and AD as axes of coordinates, the

equation to the circle which touches the sides of the square is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + ax + ay + a2 = 0

x2 + y2 + 2ax + 2ay + a2 = 0

x2 + y2 − ax − ay + a2 = 0

x2 + y2 − 2ax − 2ay + a2 = 0

71. The equation of the circle whose centre lies in the first quadrant and

which touches the coordinate axes and the line

https://dl.doubtnut.com/l/_gQWZimwhPKLz
https://dl.doubtnut.com/l/_eEPw9D9XUNgg
https://dl.doubtnut.com/l/_FRnzrxuX44QI


 then c=

A. 4

B. 2

C. 3

D. 6

Answer: D

Watch Video Solution

(x/3) + (y/4) = 1  is x2 + y2 − 2cx − 2cy + c2 = 0

72. The equation of the circle having centre on the line x+y=1 and

touching the lines 3x-4y+2=0, 4x+3y+7=0

A. 

B. 

C. 

D. 

x2 + y2 + 2x + 4y + 24/25 = 0

x2 + y2 − 2x − 4y − 44/25 = 0

2x2 + 2y2 + x − y + 14/25 = 0

x2 + y2 + 2x − 4y + 44/25 = 0

https://dl.doubtnut.com/l/_FRnzrxuX44QI
https://dl.doubtnut.com/l/_kxhi03YDWYz3


Answer: D

Watch Video Solution

73. The equation to the circles which touch the lines 3x-4y+1=0, 4x+3y-7=0

and pass through (2,3) are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 4x − 16y + 43 = 0, 5x2 + 5y2 − 12 − 24y + 31 = 0

x2 + y2 + 4x − 16y − 43 + 0, 5x2 + y2 − 12x − 24y + 31 = 0

x2 + y2 − 4x − 16y + 43 = 0, 5x2 + 5y2 + 12x + 24y + 31 = 0

x2 + y2 + 4x + 16y − 43 = 0, 5x2 + 5y2 + 12x + 24y + 31 = 0

74. The equation of the circle which has a radius 5 and tangent as the line

3x-4y+5=0 at (1,2) is

https://dl.doubtnut.com/l/_kxhi03YDWYz3
https://dl.doubtnut.com/l/_mtHlxPSi7reC
https://dl.doubtnut.com/l/_FitGqLE4icG9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 8y + 4 = 0, x2 + y2 − 6x + 4y = 0

x2 + y2 + 4x − 12y + 15 = 0, x2 + y2 − 8x + 4y − 5 = 0

2x2 + y2 − 14x − 36y + 43 = 0, 5x2 + 5y2 + 12x + 24y + 31 = 0

75. The equation of the circle passing through the point (1,-2) and having

its centre on the line 2x-y-14=0 and touching the line 4x+3y-23=0 is

A. 

B. 

C. 

D. 

x2 + y2 + 8x + 12y + 27 = 0

x2 + y2 − 12y + 27 = 0

x2 + y2 − 8x − 12y + 27 = 0

x2 + y2 − 8x + 12y + 27 = 0

https://dl.doubtnut.com/l/_FitGqLE4icG9
https://dl.doubtnut.com/l/_Yc3RPzYOnRCF


Answer: D

Watch Video Solution

76. The equation of the circles which touch the y-axis at a distance 4from

the origin and make an intercept 6 on the x-axis is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 + 2y2 ± 40 ± 8y + 56 = 0

2x2 + 2y2 − 10x ± 18y + 36 = 0

11x2 + 11y2 − 10x − 8y − 16 = 0

x2 + y2 ± 10x ± 8y, 16 = 0

77. Consider a family of circles which are passing through the point (-1,1)

and are tangent to x-axis. If (h,k) are the co-ordinates of the centre of the

https://dl.doubtnut.com/l/_Yc3RPzYOnRCF
https://dl.doubtnut.com/l/_OWL9riQTJUmg
https://dl.doubtnut.com/l/_208yMdjx2sd2


circles, then the set of values of k is given by the internal.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0 < k <
1

2

k ≥
1

2

− ≤ k ≤
1

2

1

2

k ≤
1

2

78. A variable circle passes through the fixed point (2,0) and touches the

y-axis. Then the locus of its centre is

A. a parabola

B. a circle

C. an ellipse

D. a hyperbola

https://dl.doubtnut.com/l/_208yMdjx2sd2
https://dl.doubtnut.com/l/_QLVStUqwLW2y


Answer: A

Watch Video Solution

79. If the line x+3y=0 is tangent at (0,0) to the circle of radius 1, then the

centre of one such circle is

A. (3,0)

B. 

C. 

D. 

Answer: D

Watch Video Solution

( ,
−1

√10

3

√10

( , )
3

√10

−3

√10

( , )
1

√10

3

√10

80. O is the origin and OA, OB are a pair of tangents to the

, then the equation to the circumx2 + y2 + 2gx + 2fy + c = 0, c > 0

https://dl.doubtnut.com/l/_QLVStUqwLW2y
https://dl.doubtnut.com/l/_tvnlNYvx6GOb
https://dl.doubtnut.com/l/_Iah2o8xFKvUk


circle of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ OAB  is

x2 + y2 − gx − fy = 0

x2 + y2 + gx + fy = 0

x2 + y2 − gx = 0

x2 + y2 + fy = 0

81. If O is the origin OP, OQ are the tangent to the circle

 then the circumcentre of the  is

A. (-g,-f)

B. (-f,-g)

C. (-g/2,-f/2)

D. (-f/2,-g/2)

x2 + y2 + 2gx + 2fy + c = 0 △ OPQ

https://dl.doubtnut.com/l/_Iah2o8xFKvUk
https://dl.doubtnut.com/l/_LWfnAFgxYxP5


Answer: C

Watch Video Solution

82. Tangents PA and PB are drawn from P(a,b) to the circle .

The equation to the circum circle of  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 = r2

△ PAB

x2 + y2 − x − y = 0

x2 + y2 − ax − by = 0

x2 + y2 − 2ax − 2by = 0

83. A circle touches x-axis and cuts off a constant length 2l from the y-axis.

The locus of its centre of

https://dl.doubtnut.com/l/_LWfnAFgxYxP5
https://dl.doubtnut.com/l/_HoiuiAGZvcKx
https://dl.doubtnut.com/l/_cw6eZbiMENUF


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = l2

x2 + y2 = 2l2

x2 + y2 = 3l2

x2 − y2 + l2 = 0

84. A circle passes through P(a,b) and touches the x-axis. The locus of the

other end of diameter of the circle through P is

A. 

B. 

C. 

D. none

Answer: A

(x − a)2 = 4by

(y − b)2 = 4ac

y2 = 4b(x − a)

https://dl.doubtnut.com/l/_cw6eZbiMENUF
https://dl.doubtnut.com/l/_FHT8psYRXZAq


Watch Video Solution

85. A rod PQ of length 2a sides with its ends on the axes the locus of the

circumcentre of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

△ OPQ

x2 + y2 = 2a2

x2 + y2 = 4a2

x2 + y2 = 3a2

x2 + y2 = a2

86. If O=(0,0), A=(1,0) and  then the centre of the circle

for which the lines OA, Ab and BO are the tangents, is

A. 

B = (1/2, √3/2)

( , )
1

2

1

2√3

https://dl.doubtnut.com/l/_FHT8psYRXZAq
https://dl.doubtnut.com/l/_NE98ctGkBg5t
https://dl.doubtnut.com/l/_whB5OQh39vPu


B. 

C. 

D. 

Answer: A

Watch Video Solution

( , )
1

2

1

4

( ,
1

2

−1

√3

( , )
1

2

√3

4

87. If a chord of the circle  makes equal intercepts of length a

on the coordinate axes, then 

A. 2

B. 

C. 4

D. 

Answer: C

Watch Video Solution

x2 + y2 = 8

|a| <

√2

√8

https://dl.doubtnut.com/l/_whB5OQh39vPu
https://dl.doubtnut.com/l/_sEFcsLspmrpk


88. The circle  cuts the positive coordinate

axes in A and B respectively. The equaion to the diameter of the circle

perpendicular to the chord AB is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x + 4y − 1 = 0

5y + 20 = (90 + 4√5)(x + 2)

2y + 12 = (19 + 14√5)(x − 2)

10y + 121 = (9 + 4√5)(x − 2)

y + 2 = (9 + 4√5)(x − 2)

89. The interval in which the value of  should lie if the line 

cuts the circle  in real points is

A. (15,35)

λ 3x − 4y = λ

x2 + y2 − 4x − 8y = 5

https://dl.doubtnut.com/l/_sEFcsLspmrpk
https://dl.doubtnut.com/l/_ur0RIrHQK6MP
https://dl.doubtnut.com/l/_6B2lgFr9ndMM


B. (35,15)

C. (-35,15)

D. [-15,35]

Answer: C

Watch Video Solution

90. The line x+y=1 cuts the coordinate axes at P and Q and a line

perpendicular to it meet the axes R and S. The equation to the locus of

the intersection of lines PS and QR is

A. 

B. 

C. 

D. none

Answer: C

x2 + y2 = 1

x2 + y2 − 2x − 2y = 0

x2 + y2 − x − y = 0

https://dl.doubtnut.com/l/_6B2lgFr9ndMM
https://dl.doubtnut.com/l/_9CfDV2abXAZt


Watch Video Solution

91. Let x( x-a) + y (y-1) =0 be a circle. If two chords from (a,1) bisected by X-

axis are drawn to the circle then the condition is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

a2 = 8

a2 < 8

a2 > 8

92. If two distinct chords, drawn from the point (p,q) on the circle

 are bisected by the x-axis then

A. 

x2 + y2 − px − qy = 0(where pq ≠ 0)

p2 = q2

https://dl.doubtnut.com/l/_9CfDV2abXAZt
https://dl.doubtnut.com/l/_bKSz8jmFYpYX
https://dl.doubtnut.com/l/_QMAQpmugQTX0


B. 

C. 

D. 

Answer: D

Watch Video Solution

p2 = 8q2

p2 < 8q2

p2 > 8q2

93. The point of contact of the line 3x-4y-25=0 with the circle

 is

A. (1,-2)

B. (3,-4)

C. (1,3)

D. (-1,2)

Answer: B

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_QMAQpmugQTX0
https://dl.doubtnut.com/l/_CB7BwNSAejZi


94. Show that  touches the circle 


 and find its 


point of contact.

A. (1,0)

B. (2,-3)

C. (5,2)

D. (-1,0)

Answer: B

Watch Video Solution

x + y + 1 = 0

x2 + y2 − 3x + 7y14 = 0

95. The piont where the line 4x - 3y + 7 = 0 touches the circle

 is

A. (1,1)

x2 + y2 − 6x + 4y − 12 = 0

https://dl.doubtnut.com/l/_CB7BwNSAejZi
https://dl.doubtnut.com/l/_G0CRvwgVmKFF
https://dl.doubtnut.com/l/_7cLugibZexlN


B. (1,-1)

C. (-1,1)

D. (-1,-1)

Answer: C

Watch Video Solution

96. If the line  touches the circle ,

then the point of contact is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = mx + a√1 + m2 x2 + y2 = a2

( − , )
am

√1 + m2

a

√1 + m2

( , )
am

√1 + m2

a

√1 + m2

( − , )
am

√1 + m2

a

√1 + m2

( − , )
m

√1 + m2

a

√1 + m2

https://dl.doubtnut.com/l/_7cLugibZexlN
https://dl.doubtnut.com/l/_AbkbCPVQpuZu


97. If the tangent to the circle  at (1,-2) also touches the circle

 then the point of contac tis

A. (1,0)

B. (3,-1)

C. (5,2)

D. (-1,0)

Answer: B

Watch Video Solution

x2 + y2 = 5

x2 + y2 − 8x + 6y + 20 = 0

98. The line  touches the circle  at P. The

coordinate of P are

A. 

B. 

y = x + a√2 x2 + y2 = a2

(a, a)

(a/2, a/2)

https://dl.doubtnut.com/l/_AbkbCPVQpuZu
https://dl.doubtnut.com/l/_MUS3o8V3MUm7
https://dl.doubtnut.com/l/_1zLhGXqMYDXA


C. 

D. 

Answer: D

Watch Video Solution

(a/√2, a/√2)

( − a/√2, a/√2)

99. The length of the tangent from (6,8) to the circle  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4

√6

2√6

4√6

5√6

https://dl.doubtnut.com/l/_1zLhGXqMYDXA
https://dl.doubtnut.com/l/_uzw223m4ob52


100. Find the length of the tangent form 

 to the circle .

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

(1, 3) x2 + y2 − 2x + 4y − 11 = 0

101. The length of the tangent from (0,0) to the circle

 is

A. 

B. 

C. 

2x2 + 2y2 + x − y + 5 = 0

√5

√5/2

√2

https://dl.doubtnut.com/l/_7yquyO42alcX
https://dl.doubtnut.com/l/_M692SHFNYyIA


D. 

Answer: D

Watch Video Solution

√5/2

102. The length of the tangent from to the circle

 to the circle 

 is

A. 

B. 

C. 

D. c-c'

Answer: C

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2gx + 2fy + c’ = 0

√c − c'

√c + c

√c' − c

https://dl.doubtnut.com/l/_M692SHFNYyIA
https://dl.doubtnut.com/l/_RW4YWWjG64q7
https://dl.doubtnut.com/l/_JN1Cql01yNKQ


103. The length of the tangent from a point on the circle

 to the circle  is

A. 4

B. 12

C. 16

D. 8

Answer: A

Watch Video Solution

x2 + y2 + 4x − 6y − 12 = 0 x2 + y2 + 4x − 6y + 4 = 0

104. The length of the tangent from the point (-1,1) to the circle

 equal to 2 then k=

A. 1

B. 2

C. -2

x2 + y2 − 4x + k = 0

https://dl.doubtnut.com/l/_JN1Cql01yNKQ
https://dl.doubtnut.com/l/_C6zeCwk38YJX


D. -5

Answer: C

Watch Video Solution

105. If the length of the tangent from (2,3) to circle

 is equal to 7.

A. 2

B. 4

C. 5

D. 7

Answer: C

Watch Video Solution

x2 + y2 + 6x + 2ky − 6 = 0

https://dl.doubtnut.com/l/_C6zeCwk38YJX
https://dl.doubtnut.com/l/_wKJ1kCxTz4Yd


106. If the length of the tangent from two points A,B to a circle are 6,7

respectively. If A,B are conjugate points then AB=

A. 5

B. 

C. 

D. none

Answer: B

Watch Video Solution

√85

√85/2

107. If theline y=x touches the circle  at P

where  then c=

A. 36

B. 144

C. 72

x2 + y2 + 2gx + 2fy + c = 0

OP = 6√2

https://dl.doubtnut.com/l/_z6lmfbCvF3Yw
https://dl.doubtnut.com/l/_E2j6FJkHYhLu


D. 100

Answer: C

Watch Video Solution

108. A circle S=0 with radius  touches the line x+y-2=0 at (1,1). Then the

length of the tangent drawn from the point (1,2) to S=0 is

A. 1

B. 

C. 

D. 2

Answer: C

Watch Video Solution

√2

√2

√3

https://dl.doubtnut.com/l/_E2j6FJkHYhLu
https://dl.doubtnut.com/l/_ZCT7AwHhtUB3


109. If the length of the tangent from (h,k) to the circle  is

twice the length of the tangent from the same point to the circle

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 16

x2 + y2 + 2x + 2y = 0

h2 + k2 + 4h + 4k + 16 = 0

h2 + k2 + 3h + 3k = 0

3h2 + 3k2 + 8h + 8k + 16 = 0

3h2 + 3k2 + 4h + 4k + 16 = 0

110. If the length of the tangent from (1,2) to the circle

 are in the

ratio 4:3 then 

A. 23/4

x2 + y2 + x + y − 4 = 0 and 3x2 + 3y2 − x − y − λ = 0

λ =

https://dl.doubtnut.com/l/_Ubl9rUqZrEsp
https://dl.doubtnut.com/l/_dxvMPgI6n7l1


B. 39/4

C. 17/4

D. 19/4

Answer: B

Watch Video Solution

111. If the length of the tangents from any point on the circle

 to the two circles 

are in the ratio

A. 

B. 

C. 

D. none

15x2 + 15y2 − 48x + 64y = 0

5x2 + 5y2 − 24x + 32y + 75 = 0, 5x2 + 5y2 − 48x + 64y + 300 = 0

1: 2

2: 3

3: 4

https://dl.doubtnut.com/l/_dxvMPgI6n7l1
https://dl.doubtnut.com/l/_R9apukeetw06


Answer: A

Watch Video Solution

112. If the square of the length of the tangents from a point P to the

circles  are in A.P. then 

 are in

A. A.P.

B. G.P.

C. H.P.

D. A.G.P.

Answer: A

Watch Video Solution

x2 + y2 = a2, x2 + y2 = b2, x2 + y2 = c2

a2, b2, c2

https://dl.doubtnut.com/l/_R9apukeetw06
https://dl.doubtnut.com/l/_iKipDiEEsXsy


113. The area of the quadrilateral formed by the tangents from the point

(4,5) to the circle  with a pair of the radii

joining the points of contact of these tangents is

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

x2 + y2 − 4x − 2y − 11 = 0

114. If OA and OB are the tangent from the origin to the circle

 is the centre of the circle then the

area of the quadrilateral OCAB is

A. 

x2 + y2 + 2gx + 2fy + c = 0 and C

√g2 + f 2 − c

https://dl.doubtnut.com/l/_Kt2bCue42Nbw
https://dl.doubtnut.com/l/_37JMWWLEndSy


B. 

C. 

D. 

Answer: B

Watch Video Solution

√c(g2 + f 2 − c)

√g2 + f 2 − c

c

√g2 + f 2 − c

2

115. If the distances from the origin to the centres of three circles

 are in G.P, then the length of the

tangents drawn to them from any point on the circle

A. A.P.

B. G.P.

C. H.P.

D. none

x2 + y2 − 2kix = c2, (i = 1, 2, 3)

x2 + y2 = c2  are in 

https://dl.doubtnut.com/l/_37JMWWLEndSy
https://dl.doubtnut.com/l/_fpcO9oLm3eYj


Answer: B

Watch Video Solution

116. The equation to the circle which is such that the lengths of the

tangents to it from the points (1,0), (2,0) and (3,2) are 

respectively is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

1, √7, √2

2x2 + 2y2 + 6x + 17y + 6 = 0

2x2 + 2y2 + 6x − 17y − 6 = 0

3x2 + y2 + 6x + 15y + 5 = 0

https://dl.doubtnut.com/l/_fpcO9oLm3eYj
https://dl.doubtnut.com/l/_mFX3myzJKG3k


117. If the length of the tangent from (f,g) to the circle  be

twice the length of the tangent from the same point to the circle

 then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 6

x2 + y2 + 3x + 3y = 0,

f 2 + g2 + 4f + 4g + 2 = 0

f 2 − g2 + 4f − 4g + 2 = 0

f 2 − g2 + 4g + 2 = 0

f 2 + g2 − 4f + 4g − 2 = 0

118. The locus of the point the lengths of the tangents from which to the

circles  are in the

ratio 2:1 is

A. 

x2 + y2 − 2x − 4y − 4 = 0, x2 + y2 − 10x + 25 = 0

3x2 + 3y2 + 38x + 20y + 104 = 0

https://dl.doubtnut.com/l/_f4gvEuPTtshf
https://dl.doubtnut.com/l/_J995zTUOBWoh


B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 3y2 − 38x + 20y + 104 = 0

3x2 + 3y2 − 38x − 20y − 104 = 0

3x2 + 3y2 + 38x + 20y + 140 = 0

119. The locus of the point, the lengths of the tangents from which to the

circles  are equals tis

A. x=-1

B. x=3

C. x=0

D. x=1

Answer: C

Watch Video Solution

x2 + y2 − 4 = 0, x2 + y2 − 2x − 4 = 0

https://dl.doubtnut.com/l/_J995zTUOBWoh
https://dl.doubtnut.com/l/_EU0etFnpx5Mn


120. The locus of the points from which the lengths of the tangents to

the two circles  are in the

ratio 2:3 is a circle with centre

A. (6,0)

B. (-6,0)

C. (0,6)

D. (0,-6)

Answer: B

Watch Video Solution

x2 + y2 + 4x + 3 = 0, x2 + y2 − 6x + 5 = 0

121. The locus of the point which is such that the lengths of the tangents

from it to the circles  are inversely as

their radii is

x2 + y2 = a2 and x2 + y2 = b2

https://dl.doubtnut.com/l/_EU0etFnpx5Mn
https://dl.doubtnut.com/l/_64INOBmp86E0
https://dl.doubtnut.com/l/_fY1Xjx2GUWAP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2 − b2

x2 + y2 = a2b2

x2 + y2 = a2 + b2

x2 + y2 = a + b

122. The length of the intercept made by the circle

 on x-axis is

A. 9

B. 10

C. 8

D. 6

Answer: B

x2 + y2 − 12x + 14y + 11 = 0

https://dl.doubtnut.com/l/_fY1Xjx2GUWAP
https://dl.doubtnut.com/l/_kp9mwggoqXGH


Watch Video Solution

123. The length of the intercept made by the circle

 on y-axis is

A. 1

B. 2

C. 4

D. 14

Answer: D

Watch Video Solution

x2 + y2 + 10x − 12y − 13 = 0

124. The intercept made by the circlee

 on the x-axis is

A. 4h

x2 + y2 − 2hx sin θ − 2ky sin θ − h2 cos2 θ = 0

https://dl.doubtnut.com/l/_kp9mwggoqXGH
https://dl.doubtnut.com/l/_0pq5QJM6TDUg
https://dl.doubtnut.com/l/_fwDIBuNTtrKl


B. 3h

C. 2h

D. h

Answer: C

Watch Video Solution

125. The extermities of a diameter of a circle have coordinate (-4,-3) and

(12,-1). The length of the segment cut off by the circle on y -axis is

A. 

B. 14

C. 

D. 

Answer: B

Watch Video Solution

5√13

3√13

√55

https://dl.doubtnut.com/l/_fwDIBuNTtrKl
https://dl.doubtnut.com/l/_NO8MNSbtlVzZ


126. The length of the chord x+2y=5 of the circle  is

A. 4

B. 8

C. 2

D. 1

Answer: A

Watch Video Solution

x2 + y2 = 9

127. The length of the chord x=3y+13 cut off by the circle

 is

A. 

B. 

C. 

x2 + y2 − 4x + 4y + 3 = 0

2√5

5√2

√20

https://dl.doubtnut.com/l/_NO8MNSbtlVzZ
https://dl.doubtnut.com/l/_Q5LkQ08QlsLU
https://dl.doubtnut.com/l/_mStSB6Qh0kcL


D. 

Answer: D

Watch Video Solution

√10

128. The equation of the circle with centre (3,-1) and which cuts off a chord

of length 6 on the line 2x-5y+18=0 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 2y − 28 = 0

x2 + y2 − 6x + 8 = 0

x2 + y2 + 4x − 16x + 2y − 18 = 0

3x2 + 3y2 + 4x − 6y + 18 = 0

https://dl.doubtnut.com/l/_mStSB6Qh0kcL
https://dl.doubtnut.com/l/_XOiDVslVBl0K


129. The locus of centre of a circle which passes through the origin and

cuts off a length of 4 units from the line x=3 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 + 6x = 0

y2 + 6x = 13

y2 + 6x = 10

x2 + 6y = 13

130. The equation of the circle which is touched by y=x, has its centre on

the positive direction of the x-axis and cuts off a chord of length 2 unit

along the line 

A. 

B. 

√3y − x = 0

x2 + y2 − 4x + 2 = 0

x2 + y2 − 4x + 1 = 0

https://dl.doubtnut.com/l/_i6l7jxc5adCw
https://dl.doubtnut.com/l/_U3e3mmdLAPrZ


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 8x + 8 = 0

x2 + y2 − 4y + 2 = 0

131. The locus of the foot of the perpendicular drawn from the origin to

any chord of the circle  which substents a

right angle at the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + gx + fy + c/2 = 0

2(x2 + y2) + gx + fy + c = 0

2(x2 + y2 + gx + fy) + 3c = 0

x2 + y2 + 2(gx + fy + c) = 0

https://dl.doubtnut.com/l/_U3e3mmdLAPrZ
https://dl.doubtnut.com/l/_c8bN4gjwYWRU


132. The locus of the centre of a circle which passes through the point

(h,k) and cuts of a chord of length 2d on the line lx+my+n=0 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(lx + my + n)2 = (l2 + m2)[(x − h)2 + (y − k)2 − d2]

(lx + my + n)2 = (m2 + n2)[(y − h)2 + (x − k)2 − d2]

(lx + my + n)2 = (l2 + m2)[(x + h)2 + (y + k)2 − 2d2]

(lx + my + n)2 = (l3 + m3)[(2x − 2h)2 + (2y − 10k)2 − dd2]

133. The circles  intersects the line 3x-4y = m at

two distinct points of

A. 

B. 

x2 + y2 = 4x + 8y + 5

−85 < m < − 35

−35 < m < 15

https://dl.doubtnut.com/l/_c8bN4gjwYWRU
https://dl.doubtnut.com/l/_NRuAAxhTwD1X
https://dl.doubtnut.com/l/_MR7DzDQ6mbWO


C. 

D. 

Answer: B

Watch Video Solution

15 < m < 65

35 < m < 85

134. If the line passing through P=(8,3) meets the circle

 at A,B then PA.PB=

A. 5

B. 14

C. 4

D. 24

Answer: A

Watch Video Solution

S ≡ x2 + y2 − 8x − 10y + 26 = 0

https://dl.doubtnut.com/l/_MR7DzDQ6mbWO
https://dl.doubtnut.com/l/_HumDmaORvfsw
https://dl.doubtnut.com/l/_Li97H6rAq2Fu


135. If the tangent at P on the circle  cuts two parallel

tangents of the circle at A and B then PA.PB=

A. a

B. 

C. 2a

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

a2

2a2

136. The lines 2x+3y+19=0 and 9x+6y-17=0 cuts the coordinate axes in

A. concylclic-points

B. conjugate points

C. same points

D. none

https://dl.doubtnut.com/l/_Li97H6rAq2Fu
https://dl.doubtnut.com/l/_TgLGLiEpMXOf


Answer: A

Watch Video Solution

137. If a circle passes through the points of intersection of the axes with

the lines ax-y+1=0 and x-2y+3=0 then a=

A. 2

B. 3

C. 1

D. none

Answer: A

Watch Video Solution

138. If the line 2x+3y+1=0, 3x+2y-1=0 intersect the coordinate axes in fourc

concyclic points then the equation of the circle passing through these

https://dl.doubtnut.com/l/_TgLGLiEpMXOf
https://dl.doubtnut.com/l/_KW9D8YHk4zCS
https://dl.doubtnut.com/l/_9vRJKPJ7tXiY


four points is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + x − y − 1 = 0

6(x2 + y2) + x − y − 1 = 0

x2 + y2 + 6(x − y) − 1 = 0

6x2 + 6y2 + 6x − 6y − 1 = 0

139. If the lines 2x-y+11=0, x-2y+3=0 intersect the coordinate axes in four

concyclic points the centre of the circle passing through these four

points is

A. (17/4,25/4)

B. (-17/4,25/4)

C. (17/4,-25/4)

https://dl.doubtnut.com/l/_9vRJKPJ7tXiY
https://dl.doubtnut.com/l/_gX9ZVECnoae1


D. (-17/4,-25/4)

Answer: B

Watch Video Solution

140. The number of tangents that can be drawn from (6,0) to the circle

 are

A. 4

B. 3

C. 1

D. 2

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 12 = 0

https://dl.doubtnut.com/l/_gX9ZVECnoae1
https://dl.doubtnut.com/l/_WqCs6A9RKPqA


141. The equation of the chord of contact of the point (4,2) with respect

to the circle  is

A. 

B. 8x-2y-11=0

C. 3x+8y-18=0

D. x-14y-6=0

Answer: C

Watch Video Solution

x2 + y2 − 5x + 4y − 3 = 0

5x − 3y − 25 = 0

142. The length of the chord of contact of (-2,3) with respect to the circle

 is

A. 

B. 

C. 

x2 + y2 − 2x + 4y + 1 = 0

15√13/3

5√3/13

4√15/17

https://dl.doubtnut.com/l/_pvpu6bvCdyjZ
https://dl.doubtnut.com/l/_nDicNR44GmzI


Exercise 1C(Pole, Polar)

D. 

Answer: C

Watch Video Solution

15√3/13

1. The polar of the point (3,4) w.r.t.  is

A. x+2y-7=0

B. 3x+4y-25=0

C. 5x-8y+12=0

D. x-4=0

Answer: B

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_nDicNR44GmzI
https://dl.doubtnut.com/l/_o2cAnuDvXcy4
https://dl.doubtnut.com/l/_PfUy3Ww1qQiq


2. The polar of the point (-2,3) w.r.t.  is

A. x=0

B. y=0

C. x=1

D. y=1

Answer: A

Watch Video Solution

x2 + y2 − 4x − 6y + 5 = 0

3. The polar of the point (1,2) w.r.t. the circle

 are

A. coincide

B. parallel

C. perpendicular

D. none

x2 + y2 − 14y + 6 = 0, x2 + y2 − 4x + 6y + 4 = 0

https://dl.doubtnut.com/l/_PfUy3Ww1qQiq
https://dl.doubtnut.com/l/_OBxdUzi5jCXY


Answer: A

Watch Video Solution

4. The polar of the point (1,-2) w.r.t. the circle

 are

A. parallel

B. coincident

C. perpendicular

D. none

Answer: B

Watch Video Solution

x2 + y2 + 6y + 5 = 0, x2 + y2 + 2x + 8y + 5 = 0

5. The polar of the given point w.r.t. the circle 

where  is a parameter, passes through

x2 + y2 − 2λx + c = 0

λ

https://dl.doubtnut.com/l/_OBxdUzi5jCXY
https://dl.doubtnut.com/l/_i4HYzABOhTrK
https://dl.doubtnut.com/l/_Mred7w3JhEGd


A. a fixed point

B. the origin

C. a point on x-axis

D. a point on y-axis

Answer: A

Watch Video Solution

6. The polar of the point (4,1) w.r.t. the circle 

A. touches the circle

B. intersect the circle at two points

C. does not meet the circle

D. none

Answer: A

Watch Video Solution

x2 + y2 − 2x − 2y − 7 = 0

https://dl.doubtnut.com/l/_Mred7w3JhEGd
https://dl.doubtnut.com/l/_hd0zzWl5E54e


7. The polar of the point (1,2) w.r.t. the circle 

A. touches the circle

B. intersect the circle at two points

C. does not meet the circle

D. none

Answer: C

Watch Video Solution

x2 + y2 − 2x − 4y − 4 = 0

8. The polar of the point (2t,t-4) w.r.t. the circle

 passes through the point

A. (1,2)

B. (1,3)

C. (2,1)

x2 + y2 − 4x − 6y + 1 = 0

https://dl.doubtnut.com/l/_hd0zzWl5E54e
https://dl.doubtnut.com/l/_sa9cr5zNyfhZ
https://dl.doubtnut.com/l/_a5TLBXZHIBRp


D. (3,1)

Answer: D

Watch Video Solution

9. The polar of the point (t-1, 2t) w.r.t. the circle

 passes through the point of intersection of

the lines

A. x-y-2=0, x+2y+4=0

B. 3x+3y+2=0, x+2y+4=0

C. x-y-2=0, x+2y-4=0

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x + 6y + 4 = 0

−3x + 3y + 2 = 0, x − 2y + 4 = 0

https://dl.doubtnut.com/l/_a5TLBXZHIBRp
https://dl.doubtnut.com/l/_M4gUDeh9r4K4
https://dl.doubtnut.com/l/_T7cJzoQp0lyt


10. The polar of the point  w.r.t. the circle  meets the

coordinate axes in A and B. The area of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x1, y1) x2 + y2 = a2

△ OAB

a2

|x1y1|

a2

2|x1y1|

a3

|x1y1|

a4

2|x1y1|

11. The polar of the line 8x-2y=11 with respect to the circle 

is

A. (4,1)

B. (4,-1)

C. (3,1)

2x2 + 2y2 = 11

https://dl.doubtnut.com/l/_T7cJzoQp0lyt
https://dl.doubtnut.com/l/_Hy576K3OmEeU


D. (4,2)

Answer: B

Watch Video Solution

12. The pole of  w.r.t. circle 

is

A. (6,8)

B. (3,4)

C. (3/5,4/5)

D. (-6,8)

Answer: A

View Text Solution

3x + 4y − 45 = 0 x2 + y2 − 6x − 8y + 5 = 0

https://dl.doubtnut.com/l/_Hy576K3OmEeU
https://dl.doubtnut.com/l/_zdEnq9PYVSQd


13. The polar of a point P w.r.t. a circle of radius a touching both x and y

axis and lying in the first quadrant is x+2y=4a. The coordinate of P are

A. (a,2a)

B. (2a,a)

C. (-a,4a)

D. (2a,3a)

Answer: D

Watch Video Solution

14. If O is the origin and OP, OQ are the tangents to the circle

, the pole of the line PQ is

A. (-1,-2)

B. (0,0)

C. (-2,-1)

x2 + y2 + 2x + 4y + 1 = 0

https://dl.doubtnut.com/l/_xD6i42PMgeMd
https://dl.doubtnut.com/l/_6kJIdOwGg1c6


D. (-1//2,-1)

Answer: B

Watch Video Solution

15. The polars of two points A(1,3), B(2,-1) w.r.t to circle 

intersect at C then polar of C w.r.t to the circle is

A. x+3y=9

B. 2x-y=9

C. 4x+y-7=0

D. x-4y+7=0

Answer: C

Watch Video Solution

x2 + y2 = 9

https://dl.doubtnut.com/l/_6kJIdOwGg1c6
https://dl.doubtnut.com/l/_cw6fUQPynsrN


16. Each side of  is the polarof the opposite vertex with respect to

a circle with centre P. For the  the point P is

A. centroid

B. circumcentre

C. incentre

D. orthocentre

Answer: D

Watch Video Solution

ΔABC

ΔABC

17. The polar of the line  w.r.t. to the circle 

 is

A. (2a,2b)

B. (-2a,-2b)

C. (-2a,2b)

ax + by + 3a2 + 3b2 = 0

x2 + y2 + 2ax + 2by − a2 − b2 = 0

https://dl.doubtnut.com/l/_wM0Y9gAS7wum
https://dl.doubtnut.com/l/_d3FV1EetgeAP


D. (2a,-2b)

Answer: B

Watch Video Solution

18. The polar of a given point which respect to any one of the circles

, (k is a varaible) always passes through a fixed

point whatever to be the value of k is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2kx + c2 = 0

(x1, )
x2

1 − c2

y1

( − x1, )
x2

1 − c2

y1

(x1, − )
x2

1 − c2

y1

( + x1, )
x2

1 − c2

y1

https://dl.doubtnut.com/l/_d3FV1EetgeAP
https://dl.doubtnut.com/l/_6TfNPgLaE87F
https://dl.doubtnut.com/l/_lM9lCBkkE2iy


19. If (1, a), (b, 2) are conjugate points with renpcet to the circle

, then 4a+2b=

A. 25

B. 50

C. 100

D. 150

Answer: B

Watch Video Solution

x2 + y2 = 25

20. If the points (k,1) (2,-3) are conjugate w.r.t.

 then k

A. 

B. 

C. 

x2 + y2 + 4x − 6y − 12 = 0

−3

2/3

5/4

https://dl.doubtnut.com/l/_lM9lCBkkE2iy
https://dl.doubtnut.com/l/_mC84MLdfhW4K


D. 1

Answer: C

Watch Video Solution

21. The point (4,-2), (3,b) are conjugate w.r.t. the circle  if b=

A. 6

B. 

C. 12

D. 

Answer: B

Watch Video Solution

x2 + y2 = 24

−6

−4

https://dl.doubtnut.com/l/_mC84MLdfhW4K
https://dl.doubtnut.com/l/_c6PhmH88lory


22. If (4,2) and (k,-3) are conjugate points with respect to

 them k=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 5x + 8y + 6 = 0

28

3

−
28

3

3

28

−
3

28

23. For the circle , then lines 2x+3y-1=0,

2x+y+5=0 are

A. perpendicular tangents

B. conjugate

C. parallel tangents

x2 + y2 − 2x − 4y − 4 = 0

https://dl.doubtnut.com/l/_mLqwVJfgbGIF
https://dl.doubtnut.com/l/_XaEtDAxQ9fsb


D. none

Answer: B

Watch Video Solution

24. For the circle

are

A. conjugate

B. perpendicular tangents

C. parallel tangents

D. none

Answer: A

Watch Video Solution

x2 + y2 − 6x − 6y + 5 = 0  the lines 3x + y − 2 = 0, x + 7y − 11 = 0

https://dl.doubtnut.com/l/_XaEtDAxQ9fsb
https://dl.doubtnut.com/l/_zF5ZdGMa8mnE
https://dl.doubtnut.com/l/_Cc5NfUpaIDiB


25. The condition for the lines lx+my+n=0 and  to

be conjugate with respect to the circle  is

A. 

B. 

C. =

D. 

Answer: D

View Text Solution

m1x + m1y + n1 = 0

x2 + y2 = r2

r2(ll1 − mm1) = ∩1

r2(ll1 − mm1) + ∩1 = 0

r2(ll1 − mm1) nn1

r2(ll1 − mm1) = ∩1

26. If the lines x+2y+K=0, x+y-3=0 are conjugate w.r.t.

A. 3

B. 

C. 

x2 + y2 = 9, then k =

−9

−3

https://dl.doubtnut.com/l/_Cc5NfUpaIDiB
https://dl.doubtnut.com/l/_TUDewKL52Gje


D. 

Answer: B

Watch Video Solution

−5

27. If the lines x+2y+k=-, x+y-3=0 are conjugate w.r.t. the circle

 then k=

A. 4

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + y2 − 4x + 3y − 1 = 0

−9

−3

−5

https://dl.doubtnut.com/l/_TUDewKL52Gje
https://dl.doubtnut.com/l/_KKW2njyvYx5f


28. If the lines kx+2y-4=0 and 5x-2y-4=0 are conjugate with respect to the

circle  then k=

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

x2 + y2 − 2x − 2y + 1 = 0

29. The polar of three points with respect to a given circle are concurrent,

then the three points

A. are the vertices of an equilateral triangle

B. are collinear

C. are coincident

https://dl.doubtnut.com/l/_uqnTsIEm1pZl
https://dl.doubtnut.com/l/_ar9piaJEgBQc


D. none

Answer: B

View Text Solution

30. The conjugate line 3x+4y-45=0 with respect to

 which is perpendicular to x+y=0 is

A. x-y=8

B. x-y=2

C. x-y+2=0

D. x-y+8=0

Answer: C

Watch Video Solution

x2 + y2 − 6x − 8y + 5 = 0

https://dl.doubtnut.com/l/_ar9piaJEgBQc
https://dl.doubtnut.com/l/_4blE1rPdTroV


31. The straight line x-2y+1=0 intersects the circle  in points

P and Q the coordinates of the point of intersection of tangents drawn at

P and Q to the circle is

A. (25,50)

B. (-25,50)

C. (25,-50)

D. (-25,-50)

Answer: B

Watch Video Solution

x2 + y2 = 25

32. The line 4x+4y-11=0 intersects the circle 

at A and B. The point of intersection of the tangents at A,B is

A. (-1,-2)

B. (1,2)

x2 + y2 − 6x − 4y + 4 = 0

https://dl.doubtnut.com/l/_hN1DCMbcotjP
https://dl.doubtnut.com/l/_ycDpDeNej8Ox


C. (-1,2)

D. (1,-2)

Answer: A

Watch Video Solution

33. The point ef intersection of the tangents to the circle passing through

(4, 7), (5,6) (1,5) at the points where it is cut by the line 5x+y+17=0

A. (-4,2)

B. (4,2)

C. (6,4)

D. (8,4)

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ycDpDeNej8Ox
https://dl.doubtnut.com/l/_aNwQN9wRyHf6
https://dl.doubtnut.com/l/_KbhFEHVizXHQ


34. Let A and B be two fixed points. If a perpendicular p is drawn fros A to

the polar of with respect to the circle  and perpendicular q

is drawn from B to the polar of A then

A. p=q

B. pOA=qOB

C. pOB=qOA

D. 

Answer: C

View Text Solution

x2 + y2 = a2

p2 = q2

35. The lengths of the tungents from the points A and B to the circle are

 respectively. If A and are conjugate points, then 

A. 

B. 

l1 and l2 AB2 =

l21 − l22

l21 + l22

https://dl.doubtnut.com/l/_KbhFEHVizXHQ
https://dl.doubtnut.com/l/_gDqx3gtfWJYa


C. 

D. 

Answer: B

Watch Video Solution

l21 + l22

l21l
2
2

36. The polars of any two points A and B wrt a circle, centre O meet at P.

Then 

A. 

B. 

C. OA.OB

D. none

Answer: B

View Text Solution

AP 2 − BP 2 =

AO2 + BO2

OA2 − OB2

https://dl.doubtnut.com/l/_gDqx3gtfWJYa
https://dl.doubtnut.com/l/_qKLCrRQhoVCS
https://dl.doubtnut.com/l/_tr6uLpVteFeb


37. If polar of P w.r.t. S=0 touch the circle , the locus of P is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x2 + y2 = a2

a2[(x + g)2 + (y + f)2] = c2

(gx + fy + c)2 = a2[(x + g)2 + (y + f)2]

(gx + fy + c)2 = a2

(gx + fy + c)2 = a2(x2 + y2)

38. The locus of poles of tangents to the circle  w.r.t the

circle  is

A. 

B. 

C. 

D. 

x2 + y2 = a2

x2 + y2 + 2ax − a2 = 0

y2 = 4ac

y2 = 2ax

y2 + 2ax = 0

y2 + 4ax = 0

https://dl.doubtnut.com/l/_tr6uLpVteFeb
https://dl.doubtnut.com/l/_cpAsRm1XWCsq


Answer: D

Watch Video Solution

39. The locus of poles of tangents to the circle  w.r.t.

the circle  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − p)2 + y2 = b2

x2 + y2 = a2

(a2 − px)
2

= b2(x2 + y2)

(a2 − bx)
2

= p2(x2 + y2)

(a2 − px)
2

= b2(x2 + y2)

(a2 − bx)
2

= p2(x2 + y2)

40. If the polars of points on the circle  w.r.t. the circle 

 touch the circle  then a, b, c are in

x2 + y2 = a2

x2 + y2 = b2 x2 + y2 = c2

https://dl.doubtnut.com/l/_cpAsRm1XWCsq
https://dl.doubtnut.com/l/_FqH2mNUMQMGX
https://dl.doubtnut.com/l/_TOR81Ugl6fx3


A. A.P.

B. G.P.

C. H.P.

D. A.G.P.

Answer: B

Watch Video Solution

41. Polar of the origin w.r.t. the circle 

touches the circle  if

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 + 2ax + 2by + c = 0

x2 + y2 = r2

c = r(a2 + b2)

r = c(a2 + b2)

c2 = r2(a2 + b2)

r2 = c2(a2 + b2)

https://dl.doubtnut.com/l/_TOR81Ugl6fx3
https://dl.doubtnut.com/l/_L6SOUzfOPKZ1


Watch Video Solution

42. A tangent at a point on the circle  intersects a

concentrie circle S at P and Q. The tangents to S at P and Q meet on the

circle . The equation to the circle S in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2

x2 + y2 = b2

x2 + y2 = a

x2 + y2 = b

x2 + y2 = ab

x2 + y2 = a2 + b2

43. The pole of a straight line with respect to the circle  lies

on the circle . If the straight line touches the circle 

, then

x2 + y2 = a2

x2 + y2 = 9a2

x2 + y2 = r2

https://dl.doubtnut.com/l/_L6SOUzfOPKZ1
https://dl.doubtnut.com/l/_S6rMjax4f2nQ
https://dl.doubtnut.com/l/_ElWObd9e8vJQ


A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

9a2 = r2

9r2 = a2

r2 = a2

44. The locus of the point, the chord of contact of which wrt the circle

 subtends a right angle at the centre of the circle is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 = a2

x2 + y2 =
a2

2

x2 + y2 =
a2

3

x2 + y2 = 2a2

x2 + y2 = 3a2

https://dl.doubtnut.com/l/_ElWObd9e8vJQ
https://dl.doubtnut.com/l/_NdGXOdfWxRfb


Watch Video Solution

45. The locus of the point, whose chord of contact w.r.t the circle

 makes an angle  at the centre of the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2 2α

x2 + y2 = 2a2

x2 + y2 = 2a2 cos2 α

x2 + y2 = a2 sec2 α

x2 + y2 = a2 tan2 α

46. The condition that the chord of contact of the point (b,c) w.r.t. to the

circle  should substend a right angled at the centre is

A. 

x2 + y2 = a2

b2 + c2 = a2

https://dl.doubtnut.com/l/_NdGXOdfWxRfb
https://dl.doubtnut.com/l/_qB4OVg8SgXrR
https://dl.doubtnut.com/l/_wNdkUj4wRz76


B. 

C. 

D. 

Answer: B

Watch Video Solution

b2 + c2 = 2a2

b2 + c2 = 3a2

2b2 + 2c2 = a2

47. If the pole of the line with respect to the circle  lies on

the circle  then the line is a tangent to the circle with

centre origin is

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 = c2

x2 + y2 = 9c2

9x2 + 9y2 = c2

9x2 + 9y2 = c

8x2 + 8y2 = c2

8x2 + 8y2 = c

https://dl.doubtnut.com/l/_wNdkUj4wRz76
https://dl.doubtnut.com/l/_iNKzpXklVupX


Watch Video Solution

48. A point P is taken on the circle  and PN, PM are draw,

perpendicular to the axes. The locus of the pole of the line MN is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = a2

+ =
1

x2

1

y2

1

a2

+ =
1

x2

1

y2

1

a

− =
1

x2

1

y2

1

a

− =
1

x2

1

y2

1

a2

49. If the pole of a line w.r.t to the circle  lies on the circle 

 then the line touches the circle

A. 

x2 + y2 = a2

x2 + y2 = a4

x2 + y2 = 2

https://dl.doubtnut.com/l/_iNKzpXklVupX
https://dl.doubtnut.com/l/_ijWxgrmvyYHA
https://dl.doubtnut.com/l/_yP2l6I1IJOhz


B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 3

50. The area of the triangle formed by the tangents from (1,3) to the circle

 and its chord of contact is

A. 

B. 

C. `(250sqrt3)

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x + 6y + 1 = 0

250√3

37

125√3

7

125√3

7

https://dl.doubtnut.com/l/_yP2l6I1IJOhz
https://dl.doubtnut.com/l/_h5ov0RmMfO0O


51. The locus of the poles of the line  w.r.t a system of

circles  where  is parameter is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax + by + c = 0

x2 + y2 = λ λ

ax + by = λ

bx + ay = λ

ax − by = 0

bx − ay = 0

52. The locus of the poles of the line 2x+3y-4=0 w.r.t. the circle

 is

A. 

B. 

x2 + y2 + 2λx − 16 = 0

13x2 − 22xy − 14y + 48 = 0

x2 − 32xy − 14y + 88 = 0

https://dl.doubtnut.com/l/_h5ov0RmMfO0O
https://dl.doubtnut.com/l/_383rUCUhO4HS
https://dl.doubtnut.com/l/_YHJqzGC5uBGV


C. 

D. 

Answer: C

View Text Solution

3x2 − 2xy − 4y + 48 = 0

3x2 − 2xy − 4y − 48 = 0

53. The inverse point of (1,-1) with respect to the circle , is

A. (-1,1)

B. (-2,2)

C. (1,-1)

D. (2,-2)

Answer: D

Watch Video Solution

x2 + y2 = 4

https://dl.doubtnut.com/l/_YHJqzGC5uBGV
https://dl.doubtnut.com/l/_bHmbUTq7hkch


54. The inverse point of origin w.r.t. the circle

 is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x2 + y2 + 2gx + 2fy + c = 0

( , )
cg

g2 + f 2

cf

g2 + f 2

( , )
−cf

g2 − f 2

−cg

g2 − f 2

( , )
−cg

2g2 + 2f 2

−cf

2g2 + 2f 2

( , )
−cg

g2 + f 2

−cf

g2 + f 2

55. The inverse point of (1,2) origin w.r.t. the circle

 is

A. (0,0)

B. (1,0)

C. (0,1)

x2 + y2 − 4x − 6y + 9 = 0

https://dl.doubtnut.com/l/_qn1gkoaRKNxi
https://dl.doubtnut.com/l/_jmr97oJ1bhOG


D. (1,1)

Answer: C

Watch Video Solution

56. The inverse point of (1,2) w.r.t. the circle , is (5,k) then k=

A. 10

B. 12

C. 22

D. 40

Answer: A

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_jmr97oJ1bhOG
https://dl.doubtnut.com/l/_z1ieefZ6KSL5


57. The inverse point of  w.r.t. the circle ( k ,k

)`, then k=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x1, y1) x2 + y2 = a2is (x1)

(y1)

a2

x2
1 − y2

1

a2

x2
1 + y2

1

x2

x2
1 + y2

1

y2

x2
1 + y2

1

58. For the circle  points (2,3), (-2,-1) are

A. conjugate points

B. end points of a diameter

C. inverse points

D. none

x2 + y2 − 6x + 8y − 1 = 0,

https://dl.doubtnut.com/l/_Bk6MeENMZEyw
https://dl.doubtnut.com/l/_mnbfI9kgTXWv


Answer: A

View Text Solution

59. For the circle , the points (4,2), (3,-5) are

A. conjugate points

B. end points of a diameter

C. inverse points

D. none

Answer: B

View Text Solution

x2 + y2 − 3x − 5y + 1 = 0

60. For the circle , the points (-6,1),(2,3),

(14/15,-11/15) are

x2 + y2 − 2x + 2y + 1 = 0

https://dl.doubtnut.com/l/_mnbfI9kgTXWv
https://dl.doubtnut.com/l/_wg2yS8eUCNIk
https://dl.doubtnut.com/l/_yBs7l5qCZWWY


A. collinear

B. lie on a diameter

C. pair wise conjuate

D. none

Answer: C

View Text Solution

61. The equation of the chord of the circle  with (1,-1) as the

mid point is

A. x+y=2

B. x+y+2=0

C. x-y=2

D. 2x-y=0

Answer: C

x2 + y2 = 25

https://dl.doubtnut.com/l/_yBs7l5qCZWWY
https://dl.doubtnut.com/l/_XFRALwRLqGpx


Watch Video Solution

62. The equation of the chord of the circle 

having (1,-2) as it midpoint is

A. 2x-3y-13=0

B. x-y-3=0

C. x+2y-5=0

D. 2x+3y+13=0

Answer: B

Watch Video Solution

x2 + y2 − 4x + 6y − 3 = 0

63. Given that for the circle  the line with

equation  is a chord. The midpoint of the chord is

A. (2/5,11/5)

x2 + y2 − 4x + 6y + 1 = 0

3x − y = 1

https://dl.doubtnut.com/l/_XFRALwRLqGpx
https://dl.doubtnut.com/l/_pSl84QjBPfLC
https://dl.doubtnut.com/l/_WLeGsE9yiqe8


B. (-2/5,11/5)

C. (-2/5,-11/5)

D. (2/5,-11/5)

Answer: C

Watch Video Solution

64. The length and the midpoint of the chord 4x-3y+5=0 w.r.t. the circle

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x + 4y − 20 = 0

8, ( − , − )
7
5

1

5

18, ( , )
7
5

1

5

10, ( − , − )
17
5

11

5

28, ( − , − )
7
5

8

5

https://dl.doubtnut.com/l/_WLeGsE9yiqe8
https://dl.doubtnut.com/l/_TBySH3mBqkK4


65. The length and the midpoint of the chord 2x+y-5=0 w.r.t. the circle

 is

A. 2,(5,2)

B. 4 ,(2,1)

C. 10,(8,4)

D. 11,(13,11)

Answer: B

View Text Solution

x2 + y2 = 9

66. If the tangent at (3,-4) to the circle  cuts

the circle  in A and B then the midpoint of

AB is

A. (-6,-7)

x2 + y2 − 4x + 2y − 5 = 0

x2 + y2 + 16x + 2y + 10 = 0

https://dl.doubtnut.com/l/_TBySH3mBqkK4
https://dl.doubtnut.com/l/_34mbn1WRZN6V
https://dl.doubtnut.com/l/_WBulPGqnxKm6


B. (2,-1)

C. (2,1)

D. (5,4)

Answer: A

Watch Video Solution

67. The midpoint of the chord formed by the polar of (-9,12) w.r.t.

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 100

(4, )
−4
3

( − 4, )
16

3

( − 4, )
16

9

(4, )
16

3

https://dl.doubtnut.com/l/_WBulPGqnxKm6
https://dl.doubtnut.com/l/_miphImVsVwAv


68. The locus of midpoints of chords of the circle 

passing through the origin is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2px = 0

x2 + y2 + 2px = 0

x2 + y2 − px = 0

x2 + y2 + px = 0

x2 + y2 − 4px = 0

69. The locus of midpoints of the chord of the circle  which

pass through a fixed point (4,6) is a circle. The radius of that circle is

A. 

B. 

x2 + y2 = 25

√52

√2

https://dl.doubtnut.com/l/_miphImVsVwAv
https://dl.doubtnut.com/l/_LBsrKS2kuH5Q
https://dl.doubtnut.com/l/_lwIbHSoOPxqc


C. 

D. 

Answer: C

Watch Video Solution

√13

√10

70. From the origin chords are drawn to the circle . The

locus of the middle points of these chords is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2y = 0

x2 + y2 − y = 0

x2 + y2 − x = 0

x2 + y2 − 2x = 0

x2 + y2 − x − y = 0

https://dl.doubtnut.com/l/_lwIbHSoOPxqc
https://dl.doubtnut.com/l/_ls2RnrUYL1ga
https://dl.doubtnut.com/l/_r1vNyydsKsej


71. Let C be the circle with centre (0,0) and radius 3 units. The equation of

the locus of the midpoint of the chords of the circle C that substend an

angle of  at its centre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2π/3

x2 + y2 = 27/4

x2 + y2 = 9/4

x2 + y2 = 3/2

x2 + y2 = 1

72. The equation of the straight line meeting the circle 

and which is at the same distance from the centre is

A. x-3y+25=0

B. x-3y-25=0

x − 3y − 15 = 0

https://dl.doubtnut.com/l/_r1vNyydsKsej
https://dl.doubtnut.com/l/_dGu9FMgMTB2H


C. x-3y+15=0

D. x-3y+5=0

Answer: A

View Text Solution

73. The equation of the straight line meeting the circle  in

two points equal distance d from a point  on the circumference is

A. 

B. 

C. 

D. 0

Answer: C

Watch Video Solution

x2 + y2 = a2

(x1, y1)

xy1 + yy1 =

a2 − ad2

a2 + d21

2

a2 − d21

2

https://dl.doubtnut.com/l/_dGu9FMgMTB2H
https://dl.doubtnut.com/l/_zxzbaaPVpDbs


74. If OA, OB are two equal chords of the circle 

perpendicular to each other and passing through the origin, then the

equations of OA and OB are

A. 3x+y=0, x+3y=0

B. 3x-y=0, x-3y=0

C. 3x-y=0, x+3y=0

D. 3x+y=0, x-3y=0

Answer: C

View Text Solution

x2 + y2 − 2x + 4y = 0

75. Let AB be the chord 4x-3y+5=0 with respect to the circle

 If C=(7,1) then the area of the triangle ABC is

A. 15 sq. unit

x2 + y2 − 2x + 4y − 20 = 0

https://dl.doubtnut.com/l/_zxzbaaPVpDbs
https://dl.doubtnut.com/l/_9r0l3pjq2wYP
https://dl.doubtnut.com/l/_PnBqgy0JGAxA


B. 20 sq. unit

C. 24 sq. unit

D. 45 sq. unit

Answer: C

Watch Video Solution

76. From the point A(0,3) on the circle , a chord

AB is drawn and extended to a point P, such that AP=2AB. The locus of P is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 4x + (y − 3)2 = 0

x2 + 4x + (y − 3)2 = 0

x2 + 8x + (y − 3)2 = 0

x2 + 4x + (y − 3)2 = 0

x2 + 8x − (y − 3)2 = 0

https://dl.doubtnut.com/l/_PnBqgy0JGAxA
https://dl.doubtnut.com/l/_4AzyW1IW9Z5S


77. The equation to the locus of the midpoints of chords of the circle

 which are parallel to 3x+4y+5=0 is

A. 4x+13y+125=0

B. 4x-3y-25=0

C. 14x-23y-22=0

D. x-y-5=0

Answer: B

Watch Video Solution

x2 + y2 − 8x + 6y + 20 = 0

78. The locus of the midpoints oof chords of the circle 

which touch the circle  is

A. 

B. 

x2 + y2 = 25

(x − 12)2 + (y − 5)5 = 289

(x2 + y2 − 12x − 5y)
2

= 289(x2 + y2)

(x2 + y2 + 12x − 5y)
2

= 87(x2 + y2)

https://dl.doubtnut.com/l/_4AzyW1IW9Z5S
https://dl.doubtnut.com/l/_trzFgwbA68VW
https://dl.doubtnut.com/l/_rN9aOZiG1QkG


C. 

D. 

Answer: A

View Text Solution

(3x2 − 3y2 − 13x − 3y)
2

= 18(x2 + y2)

(x2 + y2 + 15x + 15y)
2

= 89(x2 − y2)

79. The locus of the midpoints oof chords of the circle  which

substends a right angle at the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 4

x2 + y2 = 2

x2 + y2 = 4r2

x2 + y2 = 8r2

x2 + y2 = r2 /r2

https://dl.doubtnut.com/l/_rN9aOZiG1QkG
https://dl.doubtnut.com/l/_vUpW8T5JYMdF
https://dl.doubtnut.com/l/_xUgw5CbTqCq2


80. The equation to the locus of the midpoints of chords of the circle

 having a constant length 2l is

A. x+y=2

B. 

C. 

D. x+y=1

Answer: C

Watch Video Solution

x2 + y2 = r2

x2 + y2 = 1

x2 + y2 = 2

81. The equation to the locus of the midpoints of chords of the circle

 having a constant length 2l is

A. 

B. 

C. 

x2 + y2 = r2

x2 + y2 = l2

x2 + y2 = r2 − l2

x2 + y2 = r2 + l2

https://dl.doubtnut.com/l/_xUgw5CbTqCq2
https://dl.doubtnut.com/l/_nvPuv9RaOPSH


D. 

Answer: B

Watch Video Solution

x2 + y2 = 4l2

82. The length of the chords of the circle 

which makes an angle of  at (1,3) and the locus of the midpoints of all

such chords are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x − 6y − 15 = 0

60∘

5, 4(x2 + y2 − 2x − 6y) − 35 = 0

10, (x2 + y2 − 2x − 6y) − 135 = 0

15, (4x2 + y2 − 2x − 6y) − 35 = 0

3, 4(x2 + y2 + 2x + 6y) − 35 = 0

https://dl.doubtnut.com/l/_nvPuv9RaOPSH
https://dl.doubtnut.com/l/_fU0MbE5wiOrc
https://dl.doubtnut.com/l/_TwXngsSqNdJa


83. The loucs of the midpoints of the chords of the circle

 which subtend an angle of  as its

centre is a circle of radius

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

4x2 + 4y2 − 12x + 4y + 1 = 0 π/3

3

4

3√3

4

3

2

4√3

84. The locus of the midpoints of chords of the circle

 which make an angle  with the

x-axis is

A. 12x-5y=33

B. 5x+12y=33

x2 + y2 − 6x + 8y − 24 = 0 tan− 1 12/5

https://dl.doubtnut.com/l/_TwXngsSqNdJa
https://dl.doubtnut.com/l/_3O1OwBkl4chB


C. 5x+12y+33=0

D. none

Answer: C

View Text Solution

85. The locus of the midpoint of the chord of the circle

 which makes an angle of  at the centre

is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 − 2x − 2y − 2 = 0 120∘

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 + x + y − 1 = 0

x2 + y2 − 2x − 2y − 1 = 0

https://dl.doubtnut.com/l/_3O1OwBkl4chB
https://dl.doubtnut.com/l/_HhcjtNqNeOjA


86. (a,b) is the midpoint of the chord AB of the circle . The

tangents at A,B meet at C, then the area of 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + y2 = r2

△ ABC =

(a2 + b2 + r2)
3 / 2

√a2 + b2

(r2 − a2 − b2)
3 / 2

√a2 + b2

(a2 − b2 − r2)
3 / 2

√a2 + b2

87. Find the equation of the pair of tangents 

from  to the circle .

A. 

B. 

(10, 4) x2 + y2 = 25

9x2 + 80xy − 75y2 − 500x − 200y + 2900 = 0

x2 − 15y2 − 6x + 60y − 51 = 0

https://dl.doubtnut.com/l/_HhcjtNqNeOjA
https://dl.doubtnut.com/l/_yAIvY7KHGj5l
https://dl.doubtnut.com/l/_Rikj8bS9xc4k


C. 

D. 

Answer: A

Watch Video Solution

16x2 + 20xy − 5y2 − 36x + 90y − 261 = 0

3x2 − 10xy + 3y2 = 0

88. Find the pair of tangents drawn from 

to the circle 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3, 2) x2 + y2 − 6x + 4y − 2 = 0

9x2 + 80xy − 75y2 − 500x − 200y + 2900 = 0

x2 − 15y2 − 6x + 60y − 51 = 0

16x2 + 20xy − 5y2 − 36x + 90y − 261 = 0

3x2 − 10xy + 3y2 = 0

https://dl.doubtnut.com/l/_Rikj8bS9xc4k
https://dl.doubtnut.com/l/_HMMrchiGNd7U
https://dl.doubtnut.com/l/_dgMheRzFbirl


89. The equation of the tangents drawn from the origin to the circle

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2gx − 2fy + f 2 = 0

x = 0, (f 2 − g2)x − 2fgy = 0

x = 1, (f 2 + 2g2)x + 2fgy = 0

x = 2, (2f 2 + 3g2)x + 2fgy = 0

x = 5, (3f 2 + 5g2)x + 2fgy = 0

90. The angle between the tangents drawn from (0,0) to the circle

 is

A. 

B. 

C. 

x2 + y2 + 4x − 6y + 4 = 0

sin− 1 5

13

sin− 1 5

12

sin− 1 12

13

https://dl.doubtnut.com/l/_dgMheRzFbirl
https://dl.doubtnut.com/l/_qMZrXpnrhQjw


D. 

Answer: C

Watch Video Solution

π

2

91. If  is the angle between the tangents from (-1,0) to the circle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

θ

x2 + y2 − 5x + 4y − 2 = 0,  then θ =

2 tan− 1 ( )
7
4

tan− 1 ( )
7
4

2 cot − 1 ( )
7
4

cot − 1 ( )
7
4

https://dl.doubtnut.com/l/_qMZrXpnrhQjw
https://dl.doubtnut.com/l/_f7wapUA0sEPk


92. From any point on the circle  tangents are drawn to the

circle . The angle between them is

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

x2 + y2 = a2

x2 + y2 = a2 sin2 θ

θ/2

θ

2θ

93. The condition that the pair of tangents drawn from the origin to the

circle  may be at right angles is

A. 

B. 

C. 

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 + c = 0

g2 + f 2 + c = c

g2 + f 2 = 2c

https://dl.doubtnut.com/l/_0Ivd9ZiZ6Pbi
https://dl.doubtnut.com/l/_G6a7lve6hGY9


D. 

Answer: C

Watch Video Solution

2(g2 + f 2) = c

94. The condition that the pair of tangents drawn from the origin to the

circle  may be at right angles is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 + c = 0

g2 + f 2 = c

g2 + f 2 = 2c

2(g2 + f 2) = c

https://dl.doubtnut.com/l/_G6a7lve6hGY9
https://dl.doubtnut.com/l/_7JGCgsh3Fw8E


95. The angle between a pair of tangents drawn from a point P to the

circle . The

equation of the locus of the point P is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y + 9 sin2 α + 13 cos2 α = 0  is 2α

x2 + y2 + 4x − 6y + 4 = 0

x2 + y2 + 4x − 6y + 9 = 0

x2 + y2 + 4x − 6y − 4 = 0

x2 + y2 + 4x − 6y + 9 = 0

96. From any point on the circle  tangents

are drawn to the circle

. The angle

between the tangents is

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2gx + 2fy + c sin2 α + (g2 + f)cos2 α = 0

https://dl.doubtnut.com/l/_g18zy6RIpTlb
https://dl.doubtnut.com/l/_oW2Hhk5iq3HT


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α

2α

4α

α/2

97. The tangents drawn from the origin 

are per-pendicular if

A. h=r+1

B. h=-4

C. 

D. 

Answer: D

x2 + y2 − 2rx − 2hy + h2 = 0

r2 + h2 = 1

r2 = h2

https://dl.doubtnut.com/l/_oW2Hhk5iq3HT
https://dl.doubtnut.com/l/_Fzx1hPoJoARU


Watch Video Solution

98. The parametric equation of the circle  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 3)2 + (y − 2)2 = 100

x = 3 + 10 cos θ, y = 2 + 10 sin θ

x = 1, 1 + 5 cos θ, y = 5 sin θ

x = − 3 − 10 cos θ, y = 2 − 10 sin θ

x = − 5 + 10 cos θ, y = − 6 + 10 sin θ

99. The coordinate of the point on the circle 

having  as the parameter are

A. 

B. 

(x − 1)2 + (y + 2)2 = 9

θ

(2 + 3 cos θ, 2 + 3 sin θ)

(1 + 3 cos θ, − 2 + 3 sin θ)

https://dl.doubtnut.com/l/_Fzx1hPoJoARU
https://dl.doubtnut.com/l/_eOeV58M0Y0lc
https://dl.doubtnut.com/l/_nMcofVxpyT7z


C. 

D. 

Answer: B

Watch Video Solution

(1 − 3 cos θ, − 2 − 3 cos θ)

(10 + 13 cos θ, − 5 + 8 sin θ)

100. The parametric equation of the circle  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 8x − 6y = 0

x = 4 + 5 cos θ, y = 3 + 5 sin θ

x = − 4 + 5 cos θ, y = 3 + 5 sin θ

x = 4 + 5 cos θ, y = − 3 + 5 sin θ

x = − 4 + 5 cos θ, y = − 3 + 5 sin θ

https://dl.doubtnut.com/l/_nMcofVxpyT7z
https://dl.doubtnut.com/l/_7j33Z6L6uPv2


101. The equation of the circle passing through the point

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1 + 3 cos θ, 2 + 3 sin θ)

x2 + y2 − 4x + 6y − 12 = 0

x2 + y2 + 2x − 4y − 4 = 0

x2 + y2 − 14x + 16y − 32 = 0

x2 + y2 − 20x − 40y − 40 = 0

102. Show that the locus of the point of inter section of the lines

 is a parameter is a circle.

A. a

B. b

C. 

x cos θ + y sin θ = a, x sin θ − y cos θ = b, θ

a2 + b2

https://dl.doubtnut.com/l/_vxHkrpy0yJXa
https://dl.doubtnut.com/l/_iiMCcEaW2WyI


D. 

Answer: D

Watch Video Solution

√a2 + b2

103. If  then the locus of the point (x,y)

is a circle with centre and radius

A. (6,9),2

B. (2,-1), 3

C. (-2,1),3

D. (5,1),5

Answer: C

Watch Video Solution

x = − 2 + 3 cos θ, y = 1 + 3 sin θ

https://dl.doubtnut.com/l/_iiMCcEaW2WyI
https://dl.doubtnut.com/l/_ugXnuuhZrmbL


104. The parametric equation 

represent a circle of radius

A. a/2

B. a

C. 2a

D. 4a

Answer: C

Watch Video Solution

x = 2a and y =
(1 − t2)

1 + t2

4at

l + t2

105. If a straight line through  making an angle  with

the x-axis cuts the circle  in points A and B, then

length of segment AB is

A. 5

B. 10

C( − √8, √8) 135∘

x = 5 cos θ, y = 5 sin θ

https://dl.doubtnut.com/l/_RBco6RAthmR1
https://dl.doubtnut.com/l/_xD07wri3T1yF


C. 15

D. 

Answer: B

Watch Video Solution

15√2

106. The locus of the point of intersection of the tangents to the circle

 at points whose parametric angles differ by 

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x = r cos θ, y = r sin θ π/3

x2 + y2 = r2

x2 + y2 = 2r2

3(x2 + y2) = r2

3(x2 + y2) = 4r2

https://dl.doubtnut.com/l/_xD07wri3T1yF
https://dl.doubtnut.com/l/_JW7negVFvV4N


Exercise 1D(Angle Between Circles)

107. Equation to the tangent at  on the circle 

 is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(a(1 + cosα), a sinα)

x2 + y2 − 2ax = 0

x cosα + y sinα = 2a sin2 α/2

x cosα + y sinα = 2a cos2 α/2

x cosα + y sinα = 2a

1. The number of common tangents that can be drawn to the circles

A. touch internally

x2 + y2 − 4x + 6y + 8 = 0, x2 + y2 − 10x − 6y + 14 = 0

https://dl.doubtnut.com/l/_JW7negVFvV4N
https://dl.doubtnut.com/l/_YWN9OtayOYaj
https://dl.doubtnut.com/l/_iUAEfOzLgFdD


B. touch externally

C. intersecting at two points

D. are such that one completely lies outside the other

Answer: B

Watch Video Solution

2. Consider the circle . They are

such that

A. these circles touch each other

B. one of these circles lies entirely inside the other

C. each of these circles lies outside the other

D. they intersect in two points

Answer: B

View Text Solution

x2 + (y − 1)2 = 9, (x − 1)2 + y2 = 25

https://dl.doubtnut.com/l/_iUAEfOzLgFdD
https://dl.doubtnut.com/l/_qGHEKamgstwt


3. If the two circles

 intersect

in two distinct point then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 2)2 + (y − 3)2 = r2 and x2 + y2 − 10x + 2y + 17 = 0

2 < r < 8

r < 2

r = 2

r > 2

4. The condition that the circles

 may touch each other is

A. 

x2 + y2 + 2ax + c = 0, x2 + y2 + 2by + c = 0

ab > 0, c < 0

https://dl.doubtnut.com/l/_qGHEKamgstwt
https://dl.doubtnut.com/l/_S4NdBbMXSvCH
https://dl.doubtnut.com/l/_bTwpBlF9VbPr


B. 

C. 

D. 

Answer: D

Watch Video Solution

ab < 0, c > 0

ab = 0, c > 0

ab = 0, c < 0

5. Let A and B be any two point on each of the circles

 and  respectively . If

d is the distance between A and B then the set of all possible values of d

is

A. 

B. 

C. 

D. 

x2 + y2 − 8x − 8y + 28 = 0 x2 + y2 − 2x − 3 = 0

1 ≤ d ≤ 9

1 ≤ d ≤ 8

0 ≤ d ≤ 8

0 ≤ d ≤ 9

https://dl.doubtnut.com/l/_bTwpBlF9VbPr
https://dl.doubtnut.com/l/_Zo0vWRYY4uu0


Answer: A

Watch Video Solution

6. The circles  intersect each

other in two distinct points if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 10x + 16 = 0 and x2 + y2 = r2

r < 2

r > 8

2 < r < 8

2 ≤ r ≤ 8

7. If the two circles

 intersect in(x − 1)2 + (y − 3)2 = r2 and x2 + y2 − 8x + 2y + 8 = 0

https://dl.doubtnut.com/l/_Zo0vWRYY4uu0
https://dl.doubtnut.com/l/_2MmVmOOFk3Tu
https://dl.doubtnut.com/l/_6BPs7xxujapO


two distinct points, then

A. 

B. r=2

C. 

D. 

Answer: D

Watch Video Solution

r < 2

r > 2

2 < r < 8

8. If the circles

 touch each

other, then the point of contact is

A. (3,-1)

B. (3,1)

C. (7,5)

x2 + y2 − 4x + 6y + 8 = 0, x2 + y2 − 10x − 6y + 14 = 0

https://dl.doubtnut.com/l/_6BPs7xxujapO
https://dl.doubtnut.com/l/_I4MXjZ9okWEl


D. (-7,-5)

Answer: A

View Text Solution

9. The point of contact of the circle

A. (0,1)

B. (0,-1)

C. (1,0)

D. (-1,0)

Answer: B

Watch Video Solution

x2 + y2 + 2x + 2y + 1 = 0 and x2 + y2 − 2x + 2y + 1 = 0

https://dl.doubtnut.com/l/_I4MXjZ9okWEl
https://dl.doubtnut.com/l/_sQcyUPqNFlbu


10. The point at which the circles

 touch

each other is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4x − 4y + 7 = 0 and x2 + y2 − 12x − 10y + 45 = 0

( , )
2

5

5

6

( , )
14
5

13

5

( , 2 + )
12

5

√21

5

( , )
13

5
14
5

11. If the circle

touch each other externally, the point of contact is

A. (a,a)

x2 + y2 + 2ax + 4ay − 3a2 = 0 and x2 + y2 − 8ax − 6ay + 7a2 = 0

https://dl.doubtnut.com/l/_tjOVhWeLVkBD
https://dl.doubtnut.com/l/_Dx4459EDLmbL


B. (0,a)

C. (a,0)

D. (-a,0)

Answer: C

View Text Solution

12. If the circles  touch

externally then a=

A. 1

B. 

C. 21

D. 16

Answer: A

Watch Video Solution

x2 + y2 = a2, x2 + y2 − 6x − 8y + 9 = 0

−1

https://dl.doubtnut.com/l/_Dx4459EDLmbL
https://dl.doubtnut.com/l/_Ffey8Dou2ldD


13. If the circles 

touch each other then the point of contact is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − a)2 + (y − b)2 = r2, (x − b)2 + (y − a)2 = r2

α2 + β2 = r2

α2 + β2 = 2r2

(α2 + β2) = 2r2

(α2 + β2) = r2

14. The condition that the circles

 may touch each other is

A. 

B. 

x2 + y2 + 2ax + c = 0, x2 + y2 + 2by + c = 0

+ =
1

a

1

b

1

c

+ =
1

a

1

b

1

c2

https://dl.doubtnut.com/l/_Ffey8Dou2ldD
https://dl.doubtnut.com/l/_uPHE99kfGJ4y
https://dl.doubtnut.com/l/_5gxbsY0K4cjb


C. 

D. 

Answer: C

Watch Video Solution

+ =
1

a2

1

b2

1

c

+ =
1

a2

1

b2

1

c2

15. The condition that the circles

 to touch

each other is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2ax + 2by + c = 0, x2 + y2 + 2bx + 2ay + c = 0

(a + b)2 = c

(a + b)2 = 2c

(a − b)2 = c

(a − b)2 = 2c

https://dl.doubtnut.com/l/_5gxbsY0K4cjb
https://dl.doubtnut.com/l/_TYZVP5hZv7aR


16. The two circles  touch each other

if

A. a=2c

B. |a|=2c

C. 2|a|=c

D. |a|=c

Answer: D

Watch Video Solution

x2 + y2 = ax, x2 + y2 = c2(c > 0)

17. The equation of the circle with centre (-1,1) and touch the circle

 externally is

A. 

B. 

x2 + y2 − 4x + 6y − 3 = 0

x2 + y2 + 2x − 2y + 1 = 0

2x2 + 2y2 + 12x − 2y + 1 = 0

https://dl.doubtnut.com/l/_TYZVP5hZv7aR
https://dl.doubtnut.com/l/_bQZxwO4zVTrT
https://dl.doubtnut.com/l/_YnKAe60ZkrEe


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2x + 12y + 11 = 0

3x2 + 4y2 + 20x − 21y + 1 = 0

18. The equation of the circle radius is 5 and which touches the circle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x − 4y − 20 = 0  at this point (5,5) is

x2 + y2 − 18x − 16y + 120 = 0

x2 + y2 + 18x + 16y − 120 = 0

x2 + y2 − 18x − 16y − 120 = 0

x2 + y2 + 18x + 16y + 120 = 0

https://dl.doubtnut.com/l/_YnKAe60ZkrEe
https://dl.doubtnut.com/l/_BriFmSfnmFBv
https://dl.doubtnut.com/l/_2X7I5pDGANyy


19. The equation to the circle whose radius is 3 and which touches

internally the circle 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x + 6y − 12 = 0  at this point (-1,1) is

5x2 + 5y2 − 8x − 14y − 32 = 0

5x2 + 5y2 + 8x + 14y + 32 = 0

5x2 + 5y2 − 8x − 14y − 16 = 0

5x2 + 5y2 − 8x + 14y − 32 = 0

20. The equation of the circle whose radius is 3 and which touches the

circle  externally at the point (2,1) is

A. 

B. 

C. 

x2 + y2 + 2x + 6y − 15 = 0

5(x2 + y2) − 2x + 14y − 35 = 0

x2 + y2 + 30x − 22y + 121 = 0

x2 + y2 − 18x − 16y + 120 = 0

https://dl.doubtnut.com/l/_2X7I5pDGANyy
https://dl.doubtnut.com/l/_GmpDzXbgo187


D. 

Answer: A

View Text Solution

x2 + y2 − 46x − 28y = 0

21. The centre of the circle passing through the points (0,0), (1,0) and

touching the circle  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 9

( , )
3

2

1

2

( , )
1

2

3

2

( − , − )
1

√2

1

√2

( , − √2)
1

2

https://dl.doubtnut.com/l/_GmpDzXbgo187
https://dl.doubtnut.com/l/_dIl25T4DtN9H


22. The locus of the centre of a circle which touches the line

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x cosα + y sinα = p and  circle (x − a)2 + (y − b)2 = c2  is

(x − a)2 + (y − b)2 = (x cosα + y sinα − p ± c)2

(x − a)2 + (y − b)2 = (x cosα − y sinα − p ± c)2

(x − a)2 + (y − b)2 = (x cosα + y sinα − p ± c)2

(x − a)2 + (y − b)2 = (x cosα + y sinα − p ± c)2

23. The locus of the centre of a circle which touches externally the circle

 externally has the equation.

A. 

B. 

C. 

x2 + y2 = a2 and x2 + y2 = 4ax

x2 − 6x − 10y + 4 = 0

x2 − 10x − 6y + 14 = 0

y2 − 6x − 10y + 14 = 0

https://dl.doubtnut.com/l/_z2wwjUIZaEY6
https://dl.doubtnut.com/l/_FBEDQozg3fIO


D. 

Answer: D

Watch Video Solution

x2 − 6x − 10y + 14 = 0

24. The locus of the centre of a circle which touches externally the circle

 externally has the equation.

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 = a2 and x2 + y2 = 4ax

12(x − a)2 − 4y2 = 3a2

9(x − a)2 − 5y2 = 2a2

8x2 − 3(y − a)2 = 9a2

https://dl.doubtnut.com/l/_FBEDQozg3fIO
https://dl.doubtnut.com/l/_vPNh7VIlUsYY


25. The locus of the centre of a circle which touches externally the circle

 and also touches the y-axis is given by the

equation.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 6x − 6y + 14 = 0

x2 − 6x − 10y + 14 = 0

x2 − 10x − 6y + 14 = 0

x2 − 6x − 10y + 14 = 0

y2 − 10x − 6y + 14 = 0

26. The centres of those circles which touch the circle,

 externally and also the x-axis, lie on

A. a circle

B. an ellipse which is not a circle

x2 + y2 − 8x − 8y − 4 = 0

https://dl.doubtnut.com/l/_1i5QduE9CqOD
https://dl.doubtnut.com/l/_bAMq7b9rfJyJ


C. a hyperbola

D. a parabola

Answer: D

Watch Video Solution

27. A circle touches the x-axis and also touches the circle with centre at

(0,3) and radius 2. The locus of the centre of the circle is

A. an ellipse

B. a circle

C. a hyperbola

D. a parabola

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bAMq7b9rfJyJ
https://dl.doubtnut.com/l/_dWtYg6DTQ2Q6
https://dl.doubtnut.com/l/_BZRXXdxoMmXi


28. Let C be the circle with centr at (1,1) and radius =1. If T is the circle

centred at (0,y), passing through origin and touching the circle C

externally, then the radius of T is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

4

√3

√2

√3

2

29. The circels whose equations are

 touch

each other. The circle which touch both circles at the point of contact and

passing through (0,0) is

A. 

x2 + y2 + 10x − 2y + 22 = 0 and x2 + y2 + 2x − 8y + 8 = 0

9(x2 + y2) − 15x − 20y = 0

https://dl.doubtnut.com/l/_BZRXXdxoMmXi
https://dl.doubtnut.com/l/_eqbB061gcUvh


B. 

C. 

D. 

Answer: C

View Text Solution

5(x2 + y2) − 18x − 80y = 0

7(x2 + y2) − 18x − 80y = 0

x2 + y2 − 9x − 40y = 0

30. The number of common tangent to the circles

 is

A. 4

B. 2

C. 3

D. 1

Answer: C

Watch Video Solution

x2 + y2 + 2x + 8y − 23 = 0, x2 + y2 − 4x − 10y + 19 = 0

https://dl.doubtnut.com/l/_eqbB061gcUvh
https://dl.doubtnut.com/l/_bVdYSibuQA83


31. The number of common tangents to the circles

 is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x2 + y2 = 4, x2 + y2 − 8x + 12 = 0

32. The number of common tangents to the circles

 is

A. 2

B. 1

x2 + y2 = 0, x2 + y2 + x = 0

https://dl.doubtnut.com/l/_bVdYSibuQA83
https://dl.doubtnut.com/l/_waNvp9ECaKjf
https://dl.doubtnut.com/l/_JQNoLp9YgIvC


C. 4

D. 3

Answer: D

Watch Video Solution

33. The number of common tangents that can be drawn to the circles

 is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

x2 + y2 = 1 and x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_JQNoLp9YgIvC
https://dl.doubtnut.com/l/_ELXMMBXK5jkN
https://dl.doubtnut.com/l/_rO8S01NkyRyd


34. The number of common tangentss to the circles

 is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

x2 + y2 − 8x + 2y = 0 and x2 + y2 − 2x − 16y + 25 = 0

35. The number of common tangents to the circle

 is

A. 1

B. 2

C. 3

x2 + y2 − 4x − 6y − 12 = 0 and x2y2 + 6x + 18y + 26 = 0

https://dl.doubtnut.com/l/_rO8S01NkyRyd
https://dl.doubtnut.com/l/_KEaNSBeBcaA5


D. 4

Answer: C

Watch Video Solution

36. The condition that the circles

 to touch

each other is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + y2 + 2ax + 2by + c = 0, x2 + y2 + 2bx + 2ay + c = 0

(a + b)2 = 2c

(a − b)2 = 2c

a + b + c = 0

https://dl.doubtnut.com/l/_KEaNSBeBcaA5
https://dl.doubtnut.com/l/_IdQvPBfigcKW
https://dl.doubtnut.com/l/_wWCmiXl5yQOc


37. The two circles  have only

one real common tangent then

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(x − a)2 + y2 = c and (y − b)2 + x2 = 4c

a2 + b2 = c

b2 + c2 = a2

a2 + b2 = 4c2

a2 + b2 = 9c

38. If the circles  have three

common tangent then c=

A. 18

B. 19

C. 20

x2 + y2 − 6x– 8y + c = 0 and x2 + y2 = 9

https://dl.doubtnut.com/l/_wWCmiXl5yQOc
https://dl.doubtnut.com/l/_z2IC6oEo9rwG


D. 21

Answer: D

Watch Video Solution

39. If only one common tangent can be drawn to the circles

A. 20

B. 16

C. 49

D. 10

Answer: D

View Text Solution

x2 + y2 − 2x − 4y − 20 = 0 and (x + 3)2 + (y + 1)2 = p2,  then p=

https://dl.doubtnut.com/l/_z2IC6oEo9rwG
https://dl.doubtnut.com/l/_Q8RoEowaYBOa


40. The internal centre of similitude of the two circles

 is

A. (1,1/2)

B. (-1/3,-1)

C. (0,5/2)

D. (0,1)

Answer: C

Watch Video Solution

x2 + y2 + 6x − 2y + 1 = 0, x2 + y2 − 2x − 6y + 9 = 0

41. The external centre of similitude of the two circles

 is

A. (-13,1)

B. (22,-4)

C. (2,6)

x2 + y2 − 2x − 6y + 9 = 0, x2 + y2 = 4

https://dl.doubtnut.com/l/_daWmukTYZfc2
https://dl.doubtnut.com/l/_Nu9k5E6fK43b


D. (6,10)

Answer: C

Watch Video Solution

42. The centres of similutude of the circles

 is

A. (1/3,1),(-1,-3)

B. (1/5,-1) (-1,-5)

C. (1/3,1) (1,3)

D. (-1/3,-1) (-1,-3)

Answer: A

Watch Video Solution

x2 + y2 − 2x − 6y + 6 = 0, x2 + y2 = 1

https://dl.doubtnut.com/l/_Nu9k5E6fK43b
https://dl.doubtnut.com/l/_Sf78quhvJSCc


43. Find the direct common tangents of the circles

A. 3x+4y-50=0, 7x-24y-250=0

B. 5x+2y-40=0, x-24y-250=0

C. 3x+4y-50=0, 7x+24y-250=0

D. 2x+8y-150=0, 7x-24y-150=0

Answer: A

Watch Video Solution

x2 + y2 + 22x − 4y − 100 = 0 and x2 + y2 − 22x + 4y + 100 = 0

44. The equations to the transverse common tangents to the circles

 are

A. x-1=0, 3x+4y-21=0

B. x-1=0, 3x+4y-5=0

C. y-1=0, 3x+4y-5=0

x2 + y2 − 4x − 10y + 28 = 0, x2 + y2 + 4x − 6y + 4 = 0

https://dl.doubtnut.com/l/_GsWGBRDygI1Q
https://dl.doubtnut.com/l/_8M7vJ2jrXYIy


D. x-1=0, 3x+4y+21=0

Answer: A

View Text Solution

45. P(-1,-3) is a centre of similitude of for the two circles

. The length of the

common tangent through P to the circles is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

x2 + y2 = 1 and x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_8M7vJ2jrXYIy
https://dl.doubtnut.com/l/_vTIXDNeTfT3I
https://dl.doubtnut.com/l/_NW0omsuPLX5d


46. If (2,6) is a centre fo similitude for the circle

, the length of the

common tangent of circles through is

A. 9

B. 3

C. 6

D. 4

Answer: B

Watch Video Solution

x2 + y2 = 4 and x2 + y2 − 2x − 6y + 9 = 0

47. For the circles  the line 4x-

3y=5 is a

A. common chord

B. direct common tangent

x2 + y1 = 1 and (x − 1)2 + (y − 3)2 = 4

https://dl.doubtnut.com/l/_NW0omsuPLX5d
https://dl.doubtnut.com/l/_HjDTsM3qFya1


C. transverse common tangent

D. common tangent

Answer: B

View Text Solution

48. For the circles

is a

A. common chord

B. direct common tangent

C. transverse common tangent

D. common tangent

Answer: B

View Text Solution

x2 + y2 + 4x + 3y + 2y = 4 = 0, x2 + y2 + 4x − 2y + 4 = 0  the line 3x

https://dl.doubtnut.com/l/_HjDTsM3qFya1
https://dl.doubtnut.com/l/_yYu3A8uWYGhU


Exercise 2(Special Type Questions)

49. The common tangents to the circles

 from

A. equilateral triangle

B. isosceles triangle

C. righta angled triangle

D. none

Answer: A

Watch Video Solution

x2 + y2 − 6x = 0, x2 + y2 + 2x = 0

1. I : The equation of the circles cencentric with

 and passing through (2,3) is 

 

x2 + y2 − 2x + 8y − 23 = 0

x2 + y2 − 2x + 8y − 33 = 0

https://dl.doubtnut.com/l/_yYu3A8uWYGhU
https://dl.doubtnut.com/l/_cVpDXoOenxdB
https://dl.doubtnut.com/l/_0t6L53YZ0cj9


II. The equation of the circles passing through the points (1,1), (2,-1),(3,2) is

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: C

View Text Solution

x2 + y2 − 5x + y + 4 = 0

2. The nearest point on the circle

A. only I is true

B. only II is true

C. both I and II are true

x2 + y2 − 6x + 4y − 12 = 0  from ( − 5, 4)  is 

https://dl.doubtnut.com/l/_0t6L53YZ0cj9
https://dl.doubtnut.com/l/_Er0Rl2LhwJaf


D. neither I nor II true

Answer: B

Watch Video Solution

3. I. The locus of the point of intersection of two perpendicular tangents

to the circle . 


II. The locus of the point of intersection of the perpendicular tangents to

the circles 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: C

View Text Solution

x2 + y2 = a2  is x2 + y2 = 3a2

x2 + y2 = a2, x2 + y2 = b2  is x2 + y2 = a2 + b2

https://dl.doubtnut.com/l/_Er0Rl2LhwJaf
https://dl.doubtnut.com/l/_UY4D5yoZU7sO


4. I. The locus of the point from which the length of the tangents to the

two circles  are in the ratio

2:3 is a circles with centre (-6,0) 

II. The length of the chord x=3y+13 of the circle

.

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II true

Answer: B

View Text Solution

x2 + y2 + 4x + 3 = 0, x2 + y2 − 6x + 5 = 0

x2 + y2 − 4x + 4y + 3 = 0  is √10

5. Statement I The circle  touches y-axis 


Statement II The circle  touches x-axis 


Which of the following is a correct statement ?

x2 + y2 − 6x − 4y − 7 = 0

x2 + y2 + 6x + 4y − 7 = 0

https://dl.doubtnut.com/l/_cccwfd6nTSfW
https://dl.doubtnut.com/l/_aVnLIE1SG5XZ


Set 2

A. Both I and II are true

B. Neither I nor II is true

C. I is true, II is false

D. I is false, II is true

Answer: D

Watch Video Solution

1. If a,b,c, are the radii of the circles

then the ascending order of a,b,c is

A. a,b,c

B. b,c,a

C. a,c,b

x2 + y2 − 6x − 8y = 0, x2 + y2 + 4x − 6y − 3 = 0, x2 + y2 + 6x + 8y −

https://dl.doubtnut.com/l/_aVnLIE1SG5XZ
https://dl.doubtnut.com/l/_J1FXtq5RPN5o


D. b,a,c

Answer: D

View Text Solution

2. If the equation of the circle passing throught the points (3,4), (3,2), (1,4)

is  then the ascending order of a,b,c is

A. a,b,c

B. b,c,a

C. a,c,b

D. b,a,c

Answer: A

View Text Solution

x2 + y2 + 2ax + 2by + c = 0

https://dl.doubtnut.com/l/_J1FXtq5RPN5o
https://dl.doubtnut.com/l/_LEpmz0srWsSO


3. If a,b,c are the lengths of tangents from (0,0) to the circles

then the ascending order of a,b,c is

A. a,b,c

B. b,c,a

C. a,c,b

D. b,a,c

Answer: B

View Text Solution

x2 + y2 − 3x − 4y + 1 = 0, x2 + y2 + 4x − 6y + 4 = 0, x2 + y2 − 6x − 1

4. If  are the perimeters of the three circles 

respectively, then

A. 

P1, P2, P3

x2 + y2 + 8x − 6y = 0, 4x2 + 4y2 − 4x − 12y − 186 = 0 and x2 + y2 − 6

P1 < P2 < P3

https://dl.doubtnut.com/l/_Azbvl7Todbk8
https://dl.doubtnut.com/l/_brH2rnHsV3a0


Set 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

P1 < P3 < P2

P3 < P2 < P1

P2 < P3 < P1

1. Match the following

A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,b

https://dl.doubtnut.com/l/_brH2rnHsV3a0
https://dl.doubtnut.com/l/_T4USMIyhwzj6


Answer: C

Watch Video Solution

2. Match the following

A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,b

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_T4USMIyhwzj6
https://dl.doubtnut.com/l/_zHy9UFpnsP8C


3. Match the following

A. a,b,c

B. b,c,a

C. c,a,b

D. a,c,a

Answer: B

View Text Solution

4. For the circle C with the equation 

match the list-I with the list-II given below:

x2 + y2 − 16x − 12y + 64 = 0

https://dl.doubtnut.com/l/_aEwYCwRcYF5M
https://dl.doubtnut.com/l/_oGQnsMRXLzWY


A. I) d. ii). b, iii). a, iv). c

B. I) d. ii). a, iii). b, iv). e

C. I) c. ii). d, iii). a, iv). b

D. I) c. ii). e, iii). b, iv). a

Answer: C

View Text Solution

5. Given the circle C with the equation 

Match the List-I with the List-II given below concening C:

x2 + y2 − 2x + 10y − 38 = 0

https://dl.doubtnut.com/l/_oGQnsMRXLzWY
https://dl.doubtnut.com/l/_ni2B5UVgRylQ


Set 4

A. I) c. ii). a, iii). e, iv). b

B. I) d. ii). e, iii). a, iv). B

C. I) c. ii). e, iii). a, iv). b

D. I) d. ii). b, iii). a, iv). e

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ni2B5UVgRylQ


1. A: The equation of the circle (2,-3), (-3,2) as ends of a diameter is

 

R: The equation of the circle having the line segment joining

 as diameter 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is false

Answer: A

Watch Video Solution

x2 + y2 + x + y − 12 = 0

A(x1, y1) and B(x2, y2)

(x − x1)(x − x2) + (y − y1)(y − y2) = 0

2. A: length of the intercept made by the circle

 on x-axis is 10. 


R: The length of the intercept made by the circle S=0 on y-axis is .

x2 + y2 − 12 + 14y + 11 = 0

2√f 2 − c

https://dl.doubtnut.com/l/_repT5vCneSXz
https://dl.doubtnut.com/l/_jYsCqAv5LupG


A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is false

Answer: B

View Text Solution

3. A: The polar of (2,3) with respect to the circle

 


R: The polar of  with respect to the circle 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is false

x2 + y2 − 4x − 6y + 5 = 0  is 2x + 3y = 0

(x1, y1) S = 0  is S1 = 0

https://dl.doubtnut.com/l/_jYsCqAv5LupG
https://dl.doubtnut.com/l/_mOeRqjqJbxVC


Answer: D

Watch Video Solution

4. A: The angle between the tangent drawn from origin to the circle

. 


R: If  is the angle between the pair of tangents drawn from  to

the circle S=0 of the radius r then 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is false but R is false

Answer: A

View Text Solution

x2 + y2 − 14x + 2y + 25 = 0,  is π/2

θ (x1, y1)

θ tan =
θ

2

r

√S1

https://dl.doubtnut.com/l/_mOeRqjqJbxVC
https://dl.doubtnut.com/l/_CtpMCkANJydM

